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Roll Number

Name of the Candidate

Examination Name KVS TGT Hindi

Exam Date & Time 13-02-2023 03:00:00

Subject : GE_Q01-Q10_TGTHINDI

Question ID:- 1

 Options:-

.1, Option ID :- 1,

. 2, Option ID :- 2,

. 3, Option ID :- 3,

. 4, Option ID :- 4,
Answer Given:- 3, Option ID : -3

Question ID:- 2

 Options:-

.1, Option ID :- 5,

. 2, Option ID :- 6,

. 3, Option ID :- 7,

. 4, Option ID :- 8,
Answer Given:- 2, Option ID : -6

Question ID:- 3

Rearrange the parts in correct order to make a meaningful sentence.
(a) has been increasing steadily
(b) the number of jobless people
(c) inspite of decline in poverty,
(d) ironically,

(1) (c) (d) (a) (b)
(2) (d) (c) (b) (a)
(3) (b) (c) (d) (a)
(4) (a) (b) (c) (d)

Change the following sentence from Active Voice to Passive Voice.
They will start the fireworks after midnight.
(1) The fireworks are going to be started after midnight by them
(2) The fireworks will be started by them after midnight.
(3) After midnight the fireworks will be started.

(4) Starting of the fireworks will be done after midnight by them.

https://applink.adda247.com/d/XhqWf9lSap
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 Options:-  

.1, Option ID :- 9,  

. 2, Option ID :- 10,  

. 3, Option ID :- 11,  

. 4, Option ID :- 12,  

 Answer Given:- 4, Option ID : -12  
   
   
 Question ID:- 4  

   

 Options:-  

.1, Option ID :- 13,  

. 2, Option ID :- 14,  

. 3, Option ID :- 15,  

. 4, Option ID :- 16,  

 Answer Given:- 1, Option ID : -13  
   
   
 Question ID:- 5  

   

 Options:-  

.1, Option ID :- 17,  

. 2, Option ID :- 18,  

. 3, Option ID :- 19,  

. 4, Option ID :- 20,  

 Answer Given:- 1, Option ID : -17  
   
   
 Question ID:- 6  

Fill in the blank with the correct preposition :
Instead
(1) off
(2) for
(3) with
(4) of

talking endlessly, the speaker should come to the point now.

Identify the correct tense form of the underlined part in the given sentence.
I learnt Tamil when I was posted in Chennai.
(1) Simple Past
(2) Simple Present
(3) Past Perfect
(4) Past Perfect Continuous

Change the following sentence from Direct Speech to Indirect Speech.
The teacher said to the erring students, 'Why don't you do your homework at home ?'
(1) The teacher asked the erring students that why they did not do their homework at home.
(2) The teacher asked the erring students why did they not do their homework at home.
(3) The teacher asked the erring students why they did not do their homework at home.
(4) The teacher told the students to do their homework at home.

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


   

 Options:-  

.1, Option ID :- 21,  

. 2, Option ID :- 22,  

. 3, Option ID :- 23,  

. 4, Option ID :- 24,  

 Answer Given:- 2, Option ID : -22  
   
   
 Question ID:- 7  

   

 Options:-  

.1, Option ID :- 25,  

. 2, Option ID :- 26,  

. 3, Option ID :- 27,  

. 4, Option ID :- 28,  

 Answer Given:- 1, Option ID : -25  
   
   
 Question ID:- 8  

   

 Options:-  

.1, Option ID :- 29,  

. 2, Option ID :- 30,  

. 3, Option ID :- 31,  

. 4, Option ID :- 32,  

 Answer Given:- 2, Option ID : -30  
   
   
 Question ID:- 9  

Identify the part which contains an error.
He is /suffering from / pneumonia /for a week now.
(1) (2) (3) (4)

Choose the word nearest in meaning to the given word.
PHILISTINE

(1) gentle
(2) uncultivated
(3) stupid
(4) rustic

Choose the word opposite in meaning to the given word.
ERUDITE

(1) boorish
(2) superflous
(3) ignorant
(4) savage

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


   

 Options:-  

.1, Option ID :- 33,  

. 2, Option ID :- 34,  

. 3, Option ID :- 35,  

. 4, Option ID :- 36,  

 Answer Given:- 2, Option ID : -34  
   
   
 Question ID:- 10  

   

 Options:-  

.1, Option ID :- 37,  

. 2, Option ID :- 38,  

. 3, Option ID :- 39,  

. 4, Option ID :- 40,  

 Answer Given:- 1, Option ID : -37  
   
 Subject : GH_Q11-Q20_TGTHINDI  
   
   
 Question ID:- 11  

   

 Options:-  

Identify the Part of Speech of the underlined word.

The candidate studied hard, but could not clear the examination.

(1) Preposition
(2) Conjunction
(3) Adverb
(4) Interjection

Identify the clause in the underlined portion of the given sentence.

The jury gave the verdict that the convict would go to jail

(1) Principal Clause
(2) Adverb Clause
(3) Adjective Clause
(4) Noun Clause

fTRfprferT T^JITT qTT M <Scb < "3*T RT 3TTS4 QFT Tiff <4TH qtfqiT :

qqqtqqi q?f -HIHill qft ^rf 1? I qTjqq fllHijl qft ^ qqqiqqr ^ WT^KTI
ir^^ 3 fqqft cT?5 q?l ^ qRcTT fl

cqq*ii 41 ^q q̂twr TR^I srfqfqqq fqqr q qq qrqq qqnqq % fqq spq qf)% fqqqqci f i CKIHM
TPTq qq ®rsr % i faaim % qisqq^ y -qiftd fqrq; qq AcMi< q§q qqqprt if , w 3qq?qqrq?ff i

fqrqfMw q qqqtqqi qit qq^qq UIHJJI qft ^yHi fqqqt %?
(1) qqrqp-qq

(2) \feqt

(3) ieflfq.qa

(4) qp2jq*

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


.1, Option ID :- 41,  

. 2, Option ID :- 42,  

. 3, Option ID :- 43,  

. 4, Option ID :- 44,  

 Answer Given:- 1, Option ID : -41  
   
   
 Question ID:- 12  

   

 Options:-  

.1, Option ID :- 45,  

. 2, Option ID :- 46,  

. 3, Option ID :- 47,  

. 4, Option ID :- 48,  

 Answer Given:- 1, Option ID : -45  
   
   
 Question ID:- 13  

   

 Options:-  

.1, Option ID :- 49,  

. 2, Option ID :- 50,  

. 3, Option ID :- 51,  

. 4, Option ID :- 52,  

 Answer Given:- 2, Option ID : -50  
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 Question ID:- 14  

   

 Options:-  

.1, Option ID :- 53,  

. 2, Option ID :- 54,  

. 3, Option ID :- 55,  

. 4, Option ID :- 56,  

 Answer Given:- 2, Option ID : -54  
   
   
 Question ID:- 15  

   

 Options:-  

.1, Option ID :- 57,  

. 2, Option ID :- 58,  

. 3, Option ID :- 59,  

. 4, Option ID :- 60,  

 Answer Given:- 2, Option ID : -58  
   
   
 Question ID:- 16  

PHHRNR̂ rt jieJivi 'TSCFT tn- arrejTftrf W=T Tiff 3TPT COHHU, :
dRRtddT dH^dd fllHift dff 11 dFJdd •RIHifl dff ^-ddl if ’̂T'RTddT "R WT̂ cTT R̂T

ifdf f I f5rf*FT fa^lHdl % 'RT'KTR if fd̂ ft <sl<k} if Rl^ vJ^ctil RRdT 1? I 3F̂
oRd'HIdl R̂RTddT Wt 3}f*rfdRR R>t f%fdT d dR 3TRd r̂RTdd dif^Ff % RdO; 3FT dff% fdddcdcf f I d^HH

Rdd "£f Iq^lH'l dd dlT H$rd % i IdtfHd % "RI d̂R Tt ydlRd fd>R 7JTT <srHI^ dgd <JH4H1 if , dl 3TTd?ddiRif I

rdHRdRsId 3 dffd-dd T̂^-^R 3FFTd %?
(1) <5 H^=K1 -

(2) 'JlMl^ch - F3PT

(3) dHRpfl - SP^R^M
(4) 3PTO - SRIddddi

IHHICHRSW ji^iiyi r̂t M <sct) < "5H trr 3rrejiRd RSH F̂TT wf <JTH Rtfrrcr :

^HWK-^RRRtddT dff iH^dd wtdft 4^-ddl ^rf 1? I ^R^dd RIRifl dft ĴjddT if RdRIddl ff 'dld d̂idl
#cfttl 1TR$ dl fdf*Fd fddN-if % Rl*dR 3 fd̂ ft d*3 d?l 4skl<}^ Wet <Wd> l Rl^d^ dddT fl 3T^7

odd^ldl RRRfddT TTOFI 3?fdfddR dft f f̂cTT d dd 3FTd vicMIdd dif % fê 3RT dild> fddiMcl f I cj^M

dTRd *f fddIMd dd dlT HS<d % I PddlMd % RI d̂R if ydlRd fdTR^<5rRld dfd if , dl dHld*dd> dlf I

fdf*Fr fddlHdl % ‘RPdd 3 fd̂ ft d^dft (slO<^ ^Fief RRdd dddT t :

(1) STRTdf °dfdd
(2) RRdfddT
(3) 'dld d̂i RRdtddT
(4) oifdRIdl

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


   

 Options:-  

.1, Option ID :- 61,  

. 2, Option ID :- 62,  

. 3, Option ID :- 63,  

. 4, Option ID :- 64,  

 Answer Given:- 1, Option ID : -61  
   
   
 Question ID:- 17  

   

 Options:-  

.1, Option ID :- 65,  

. 2, Option ID :- 66,  

. 3, Option ID :- 67,  

. 4, Option ID :- 68,  

 Answer Given:- 4, Option ID : -68  
   
   
 Question ID:- 18  

   

 Options:-  

.1, Option ID :- 69,  

. 2, Option ID :- 70,  

. 3, Option ID :- 71,  

. 4, Option ID :- 72,  

 Answer Given:- 4, Option ID : -72  
   
   
 Question ID:- 19  

PinR-lftslcI Miirciciwcb WI t :

(1) Rcrfl
(2)
(3) W
(4)

RlHRdRsId 3 Tff«T T̂efT ?K t
(1)
(2) 'JlM=hl^l

(3) cRO Î

(4) detfld

Pl̂ RlRgd 3 ^u|q|-c|cb fc(^|qu| %
(1)
(2) •‘ftatf
(3) 'dlMIdl
(4) -qra

https://applink.adda247.com/d/XhqWf9lSap
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 Options:-  

.1, Option ID :- 73,  

. 2, Option ID :- 74,  

. 3, Option ID :- 75,  

. 4, Option ID :- 76,  

 Answer Given:- 3, Option ID : -75  
   
   
 Question ID:- 20  

   

 Options:-  

.1, Option ID :- 77,  

. 2, Option ID :- 78,  

. 3, Option ID :- 79,  

. 4, Option ID :- 80,  

 Answer Given:- 1, Option ID : -77  
   
 Subject : GA_Q21-Q30_TGTHINDI  
   
   
 Question ID:- 21  
   

RIHRIRSICI < TFT$fl ysleK wt 3Pf % :

(1) ^vRT

(2) H.'JlI'+i T̂TF

(3) 3Wi <+)<HI

(4) IpftwiT

(1) *3d =bHcrt

(2) tOT
(3) Mw
(4)

:

Consider the following statements regarding the International Women's Day-Week celebrated by
the Ministry of Women and Child Development in India in 2022 ?
(a) International Women's Day-Week was celebrated from 8th March to 14* March 2022
(b) The week was celebrated as 'Iconic Week'
(c) During the week the Ministry launched "Stree Manoraksha Project" in collaboration with

NIMHANS Bengaluru
Select the correct answer from the codes given below :
(1) only (a)
(2) only (a) and (b)
(3) only (b) and (c)
(4) only (a) and (c)

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


 Options:-  

.1, Option ID :- 81,  

. 2, Option ID :- 82,  

. 3, Option ID :- 83,  

. 4, Option ID :- 84,  

 Answer Given:- 4, Option ID : -84  
   
   
 Question ID:- 22  

   

 Options:-  

.1, Option ID :- 85,  

. 2, Option ID :- 86,  

. 3, Option ID :- 87,  

. 4, Option ID :- 88,  

 Answer Given:- 1, Option ID : -85  
   
   
 Question ID:- 23  

RTTcT ^ 2022 "*¥ Hf^ell 3^1 H^ld-M £RT TTTTJ Rir 3TcRf^fa Mfeel I TJ
felHfelRgd F̂T̂ Ht RT fcj-clK dPlPdiJ, I

(a) Hifedl f^R-RRTTs?, 8 RH ^f 14 RT^, 2022 cR* HiMI XPTT I

(b) ^ ^'dl? * ^l ^ohlPloh 3 HdMl RTT I

(c) •H 'flie %^RH H^lelM ^ NIMHANS, ^ TR RSJT LlR4)'Jl'll ’ yiT3TTcT I

f^xr 7]Ti R Tfiff T̂ "BRR =blfenO
(1) %cfR (a)
(2) %̂ eT (a) 3?K (b)
(3) (b) #1(C)

(4) %̂ T (a) #1 (c)

Which Title/Book has been selected for the Sahitya Akademi Award 2022 in Sindhi language ?
(1) Sindhi Kahaneea Ji Haisyat
(2) Sindhi Sahit Jo Mukhtasar Itihas
(3) Mohe Sonu
(4) Kavya Chintan Man Jo Manthan

fRsft -Hlfec4! J£<4«hk, 2022 % f^RT ‘STJ’fciAJRRi Ij^T RR % ?
(1) fRSft <=h^lPl <MI IRH -MO

(2) 'HlfedM
(3)

(4) f f̂cR XR WT

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


   

 Options:-  

.1, Option ID :- 89,  

. 2, Option ID :- 90,  

. 3, Option ID :- 91,  

. 4, Option ID :- 92,  

 Answer Given:- 4, Option ID : -92  
   
   
 Question ID:- 24  

   

 Options:-  

.1, Option ID :- 93,  

. 2, Option ID :- 94,  

. 3, Option ID :- 95,  

. 4, Option ID :- 96,  

 Answer Given:- 2, Option ID : -94  
   
   
 Question ID:- 25  

Which of the following events in India started from the Gowalia Tank Maidan in Bombay which
was officially renamed as the August Kranti Maidan after that event ?
(1) The Revolt of 1857
(2) The Quit India Movement
(3) The Khilafat Agitation
(4) The Chittagong Uprising

PinRlRad P #RZR *TKcT fRR RRlfcPTT if RtRT % RP
1FP Tt PcRT°R 3PPRT sfiffa ‘ft̂ R =R f^RT W 8TT ?

(1) 1857 RT

(2) PTR sJlft SlKldd
(3) Hadl d̂ RRpR

(4) Pdrldl'c) «lMlctd

Who has the power to Summon a joint sitting of both houses of the Parliament in India ?
(1) The President
(2) The Speaker of the Lok sabha
(3) The Leader of the House in Lok Sabha
(4) The Speaker of the Lok Sabha and the Chairman of the Rajya Sabha Jointly

PTR 3 TTCR Rt #tf PPPflf RT fi
’-̂ dd «RR^cTFt Rt PTP t?

(1) TT^rfcT
(2) RlRPPT 37«q^T

(3) RRPTPT 3 PPT %
(4) RRVPPT % 3RR51 sjftl TFRTfPT % TfPIMfd SRI P^dd

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


   

 Options:-  

.1, Option ID :- 97,  

. 2, Option ID :- 98,  

. 3, Option ID :- 99,  

. 4, Option ID :- 100,  

 Answer Given:- 2, Option ID : -98  
   
   
 Question ID:- 26  

   

 Options:-  

.1, Option ID :- 101,  

. 2, Option ID :- 102,  

. 3, Option ID :- 103,  

. 4, Option ID :- 104,  

 Answer Given:- 2, Option ID : -102  
   
   
 Question ID:- 27  

Which of the following economic schemes was launched by the Government of India in 2020 to
meet the challenge of the pandemic ?
(1) Pradhan Mantri Shram Yogi Maan-Dhan Yojna
(2) Deendayal Antyodaya Yojna
(3) Garib Kalyan Rojgor Abhiyaan
(4) Ayushman Bharat Digital Mission

Wd *U=hk URI ^Yd4i Pi 2020 Pf # 3TTf?fe%5RT Ĵ̂ 3 T̂cT ?
(1) SIR f̂Pft TTH-*H 41'SHI

(2) dl'Id'MId

(3) dPld OHQ^IUI ^5FfR

(4) *TRcl PsPdtid PH^H

Who among the following had led the movement for integration of Sikkim with India ?
(1) Chogyal
(2) Kazi Lhendup Dorji Khangsarpa
(3) Laldenga
(4) Angami Zapu Phizo

PHPkbH % T̂Rcf B’ 3ti<Wld PlHPelPdd Pf «TI ?
(1) "dVdlel
(2) dil.'dl dik'd! WPTPTT

(3) crlKd^ll

(4) SFTpf! idl^

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


   

 Options:-  

.1, Option ID :- 105,  

. 2, Option ID :- 106,  

. 3, Option ID :- 107,  

. 4, Option ID :- 108,  

 Answer Given:- 1, Option ID : -105  
   
   
 Question ID:- 28  

   

 Options:-  

.1, Option ID :- 109,  

. 2, Option ID :- 110,  

. 3, Option ID :- 111,  

. 4, Option ID :- 112,  

 Answer Given:- 2, Option ID : -110  
   
   
 Question ID:- 29  

What is the northern-most range of Himalayas or the inner Himalayas called ?
(1) Himanchal
(2) Shivalik
(3) Himadri
(4) Purvanchal

^TT^ 'TFT 3 1T®TCT sjTIFTT 3T«M 3Tl'clR=h %FTFFT ^T WR f ?
(1) F̂ hel
(2) fVlciird*
(3)
(4) TJ^TFT

Who among the following is the Tenzing Norgay National Adventure Award winner of 2021 for
life time Achievement ?
(1) Bimal Prafulla Ghosh
(2) Group Captain Kunwar Bhawani Singh Samyal
(3) Dinesh Jawahar Lad
(4) Raj Singh

FTTfT) 3T t̂̂ fe % 2021 % cHf F̂T F^PNF 3T3l£ PlHPdRdd 3 f̂tcTT ?
(1) f ®lHd TJcvf
(2) Tfl jpR F̂Tt TTI^TH

(3) (Vtel ®

(4) IRTfW

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


   

 Options:-  

.1, Option ID :- 113,  

. 2, Option ID :- 114,  

. 3, Option ID :- 115,  

. 4, Option ID :- 116,  

 Answer Given:- 4, Option ID : -116  
   
   
 Question ID:- 30  

   

 Options:-  

.1, Option ID :- 117,  

. 2, Option ID :- 118,  

. 3, Option ID :- 119,  

. 4, Option ID :- 120,  

Which of the following is a Brackish water resource ?
(1) Canals
(2) Reservoirs
(3) Rivers
(4) Lagoons

RinfelRsld if if Rpff ^>T "RT % ?
(1) ^
(2) T̂vTTC'FT

(3)
(4)

Which of the following examples most appropriately represents the "accuracy” characteristic of
the computer ?
(1) Calculation and generation of salary slips of thousands of employees of an organization.

(2) Result of division of any two numbers upto 10 decimal places.

(3) Performing long and complex calculations with the same speed and accuracy from the start
till the end.

(4) At one moment one can use the computer to prepare a letter document and in the next
moment one may play music or print a document.

RinfeiRsfl if if ?̂R ITT ‘ (accuracy) IT̂ fRRT Wf Rff% if <;¥ l[cii

t ?
(1) TFR3R % sFSTRf %^cR f̂f TTcrHT ^RRT 3fR =fvRTf I

(2) 10^lHdcn
*
eh cR> 'RTRFRJ I

(3) STR T̂ if 3Tcf cRT vRff 3ffl 'Jlfdd iRRTSTf ^T 3ffT HR^O&AI if I

(4) 8RTif =T)*-w£d< IPTpT if ^>CTT 3?R $RT <J*m TPlfcl <sMMI 3TW f5R
v̂dT I

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


 Answer Given:- 3, Option ID : -119  
   
 Subject : RA _Q31-Q35_TGTHINDI  
   
   
 Question ID:- 31  

   

 Options:-  

.1, Option ID :- 121,  

. 2, Option ID :- 122,  

. 3, Option ID :- 123,  

. 4, Option ID :- 124,  

 Answer Given:- 3, Option ID : -123  
   
   
 Question ID:- 32  

The given question is based on the following information :
J $ K means ' ] is the father of K';
J # K means 'J is the husband of K';
J $ K means 'J is the daughter of K';

J © K means 'J is the wife of K'.
If expression 'L # N # M © P $ Q', is true, then which of the following statement is not correct ?
(1) 'M' is the mother of 'Q'

(2) 'F is the father of 'N'
(3) '1/ is brother of 'Q'

(4) 'N' is the sister of 'Q'

( <•41 M-41 y *M H(elRad ^cHI "’F 31PJlRd 1? :

J $ K t‘J, K fqdT t’;
J # K^7I 3T8f
J $ K ^T 3TsJt‘ j, t’;
J © K T̂ K ' t̂ 'qrTtt’ l

oq'vjich 'L # N # M © P $ Q' t eft RinfelRad Rt =beyl % ?
(1)
(2) 'F, 'N'^ffteTT 11
(3) 'L'/Q' T̂^tl
(4) 'N'/Q'^ T̂tl

https://applink.adda247.com/d/XhqWf9lSap
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 Options:-  

.1, Option ID :- 125,  

. 2, Option ID :- 126,  

. 3, Option ID :- 127,  

. 4, Option ID :- 128,  

 Answer Given:- 3, Option ID : -127  
   
   
 Question ID:- 33  

Three statements showing relationship have been given, which are followed by two conclusions (I)
and (II). Assuming that the given statements are true, find out which of the conclusions is/are
definitely true.
Statements :
[1] S K
[2] K < M
[3] G M
Conclusions :
(I) M > S
(II) K < G

(1) Only conclusion (I) is true
(2) Only conclusion (II) is true
(3) Both conclusions (I) and (II) are true
(4) Neither conclusion (I) nor (II) is true

#3 =F>SF1 TR.t f3H%^ Pi^4 (I) (II) TIT f I^TTHcf IT1% TTT
f , f^cl Tt t'/f ?

CF8PT :

[1] S K
[2] K < M
[3] G M

:

(I) M > S
(II) K < G

(1) (I) f
(2) %°fel (II) Tf# f
(3) fw* (I) sfa (II)W ^t
(4) ^rf 3^ *rt t

https://applink.adda247.com/d/XhqWf9lSap
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 Options:-  

.1, Option ID :- 129,  

. 2, Option ID :- 130,  

. 3, Option ID :- 131,  

. 4, Option ID :- 132,  

 Answer Given:- 4, Option ID : -132  
   
   
 Question ID:- 34  
   

G, H, J, K, L, M and N are sitting in a circle facing at the center. 'M' sits third to the right of 'K'. ' }'
sits second to the left of 'N'. 'L' is an immediate neighbour of 'M'. 'G' sits immediate right of 'IT.
Only one person sits between 'G' and 'K'. Who sits second to the right of 'L' ?
(1) J
(2) K
(3) G
(4) H

G, H, J, K, L, M NT^frl^STTfifr3 ^ f I 'M', 'K'% 3T R E f c f t
q r n̂ t i 'G'/H'^T? *̂! c ŝff sifc

11'G' 'K' % -nr=kl ^SrfT t I 'L' % ^Flf 3?R WT ET ^3cTT t ?
(1) J
(2) K
(3) G
(4) H

Three statements are given followed by three conclusions (I), (II) and (El). You have to take these
statements to be true, even if they seem to be at variance from commonly known facts. Decide
which of the given conclusions logically follow(s) from the given statements.
Statements :
[1] All keys are locks
[2] Some locks are doors
[3] No door is room
Conclusions :
(I) Some rooms are keys
(II) Some doors are keys
(III) No room is a key

(1) Only conclusion (I) follow
(2) Only conclusion (II) follows
(3) Only conclusion (II) and (IE) follow
(4) Either conclusion (I) or (IE) follows
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 Options:-  

.1, Option ID :- 133,  

. 2, Option ID :- 134,  

. 3, Option ID :- 135,  

. 4, Option ID :- 136,  

 Answer Given:- 4, Option ID : -136  
   
   
 Question ID:- 35  

11ipptfrtj(ni)Mate(i)(*)

11.(m)Mate(il)Pfr.

^
()

i
^

IPPĴ(n)$><*»»IJ(z)

Ie[ipu>tbij(i)uibtb(x)

I
^

ys>ifr
^

i>ht|B
$\$>(HI)

|LIbbjlh-
^

Ib>b(n)
(I)

l>hteltrs|b>b
^

Na[g]
frlbVb

^
IPfi<S[z]

|£1&lhfrjl.fr\h&[l]
:kfrifr

c%/%m*£h±
h
^

LMatfeJIU£jkh<tobkXlbJ.jaMoaPJ£/]&ijtfe%bksj
^

hjnkjSbIJjikJtdfr
^

kdtj£JfraPPlfttUh^Ihlk£
|lfrifrfrihtj«frjhfr»btijtfrhueigbitbbj(ill)yjte(il)'(i)P(Pbifr

^
PUJ|.bitbbju\ufrjb
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Choose the Venn diagram from the options which represents the correct relationship amongst the
given classes :
Mammal, Lizard, Whale
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 Options:-  

.1, Option ID :- 137,  

. 2, Option ID :- 138,  

. 3, Option ID :- 139,  

. 4, Option ID :- 140,  

 Answer Given:- 1, Option ID : -137  
   
 Subject : CL_Q36-Q40_TGTHINDI  
   
   
 Question ID:- 36  
   

f^TT^ T^f 3lfal F̂T

P̂f R̂T, I?9 H =hdl , °^eT

Chir-IM.^f^P;Tpj f̂f % Pf?t PPR c l̂fcll s? t I

Which of the following is not valid about an e-mail address ?
(1) e-mail Address should have one @ symbol
(2) e-mail Address can have multiple dot (.) operator
(3) e-mail Address cannot have space in it
(4) e-mail Address can have any number of @ symbol
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 Options:-  

.1, Option ID :- 141,  

. 2, Option ID :- 142,  

. 3, Option ID :- 143,  

. 4, Option ID :- 144,  

 Answer Given:- 4, Option ID : -144  
   
   
 Question ID:- 37  

   

 Options:-  

.1, Option ID :- 145,  

. 2, Option ID :- 146,  

. 3, Option ID :- 147,  

. 4, Option ID :- 148,  

 Answer Given:- 1, Option ID : -145  
   
   
 Question ID:- 38  
   

fast 3 F̂TT MWI R#'f ?
(1) *3f @ f^RT ( R^d ) ??RT I

(2) ^- T̂R "Q^T 3 RcRtTR (. ) 3lT»Ad< iff TRFcl % I

(3) Rd tj^fl f̂ T^R’ 1? RT "cllf% M. I

(4) ^-^cT T Î̂ T RtJd'l ( f*HR ) ifl "t I

The following is the combination of keys used to copy a selected text in word processing software.
(1) CTRL + C
(2) ALT + C
(3) CTRL + P
(4) CTRL + Y

^MWR-HI TTPR^pR 3 fast fierifad-S d=tfd R>t RTTf (copy) % fRt( RiR ^ RTf-RRlRR "SPlR faRTl
Rimt?
(1) CTRL + C
(2) ALT + C
(3) CTRL + P
(4) CTRL + Y

is used to quickly apply the same formatting, such as color, font style and size, or
border style, to multiple pieces of text or graphics.
(1) Format Copy
(2) Format Stamp
(3) Format Painter
(4) Format Move
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 Options:-  

.1, Option ID :- 149,  

. 2, Option ID :- 150,  

. 3, Option ID :- 151,  

. 4, Option ID :- 152,  

 Answer Given:- 1, Option ID : -149  
   
   
 Question ID:- 39  

   

 Options:-  

.1, Option ID :- 153,  

. 2, Option ID :- 154,  

. 3, Option ID :- 155,  

. 4, Option ID :- 156,  

 Answer Given:- 2, Option ID : -154  
   
   
 Question ID:- 40  
   

ci.=H<d i4 lP+>=HH %^ «RPf % feTQ; ^eR, T>fe «l $d, TJT^ sfk ®TT^ Wl$crl ^Rft TTPFT ’+> K^fci< l

cl t̂ild % fm,

(1) Format Copy
(2) Format Stamp
(3) Format Painter
(4) Format Move

TPTlPT form T̂TcTT % I

are the visual effects which appear in PowerPoint when one slide moves to the next
slide.
(1) Slide Movements
(2) Slide Transitions
(3) Slide Effects
(4) Slide Frames

nlcK^is
'
d ^3Pi# Tt Wet f eft R<al^ 1̂^ f^3Tet

tl
(1) *<rfls?4 ^A-6H

(2)
(3) Wl^ -S 5^=*̂
(4)

MS-Office does not contain the following as its part :
(1) MS Word
(2) MS PowerPoint
(3) MS Paint
(4) MS Excel
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 Options:-  

.1, Option ID :- 157,  

. 2, Option ID :- 158,  

. 3, Option ID :- 159,  

. 4, Option ID :- 160,  

 Answer Given:- 4, Option ID : -160  
   
 Subject : UL_Q41-Q50_TGTHINDI  
   
   
 Question ID:- 41  

   

 Options:-  

.1, Option ID :- 161,  

. 2, Option ID :- 162,  

. 3, Option ID :- 163,  

. 4, Option ID :- 164,  

 Answer Given:- 3, Option ID : -163  
   
   
 Question ID:- 42  
   

M.HU.'H <HTTMTH PinfclRacI *1FT % 3 i'llPHC'l ^tcfT %?
(1) M.HM.'H ~%£
(2) WW
(3) U.HM.'H^
(4) "077̂ QCF&CT

In Kohlberg theory of moral development, the influence of parents on child is assumed in :
(1) conventional stage
(2) post-conventional stage
(3) pre-conventional stage
(4) concrete operational stage

3fd=t> F=l =bW % RHOSI-CI «ilc1 =h 3#T̂ I 3=b)’ % fevR 3T̂ $H RHT %?
(1) WRTPRT 3T̂ S1T 3
(2) ^̂ -WWTcl 3T3R«IT Pf
(3) 3RRFSTT 3
(4) tjcf Tf%3TT?Ĥ SfcRSfT 3

In homeschooling, which one of the following dimension of the child's personality may be less
developed ?
(1) cognitive growth
(2) emotional development
(3) values
(4) socialization
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 Options:-  

.1, Option ID :- 165,  

. 2, Option ID :- 166,  

. 3, Option ID :- 167,  

. 4, Option ID :- 168,  

 Answer Given:- 4, Option ID : -168  
   
   
 Question ID:- 43  

   

 Options:-  

.1, Option ID :- 169,  

. 2, Option ID :- 170,  

. 3, Option ID :- 171,  

. 4, Option ID :- 172,  

 Answer Given:- 1, Option ID : -169  
   
   
 Question ID:- 44  
   

T O 'T T *|> R l J l ) ®Hd°b % <=̂ r=K1̂ % TOR SjfcTT f ?
(1) UsIMIcHTO

(2) R^llcRTO fRTORT
(3) W*
(4) ^ IRMI'M0!

Keeping in view the cognitive development of adolescents, the classroom discussions and activities
should preferably focus on .
(1) intuitive thoughts.
(2) symbolic thoughts.
(3) trial and error mechanism.
(4) deductive reasoning.

fTO?Mt'% R*IHIcHTO faTORT TOl TOTR R TTOt^TOSIT 3 TORfsff sfk fsFRTSjf 3 SlfTOTHR: iTOR TO TOFT fTOTO TORT

(1) 3TRT^?ff fTORR TO

(2) yfl1=hlcH =b f^RTR TO

(3) TO 3fk^R?TTO

(4) fRRRRTTOTO R#T TO

A teacher finds that the adolescents students of his class learn by observation. This is known as

(1) experimental learning.
(2) associative learning.
(3) vicarious learning.
(4) insight learning.
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 Options:-  

.1, Option ID :- 173,  

. 2, Option ID :- 174,  

. 3, Option ID :- 175,  

. 4, Option ID :- 176,  

 Answer Given:- 4, Option ID : -176  
   
   
 Question ID:- 45  

   

 Options:-  

.1, Option ID :- 177,  

. 2, Option ID :- 178,  

. 3, Option ID :- 179,  

. 4, Option ID :- 180,  

 Answer Given:- 3, Option ID : -179  
   
   
 Question ID:- 46  
   

^WT1 fTT 3 f̂t̂ R % fJTO l̂ <acl f I f ?
(1) 3^WW 3TfWT
(2) w^rft SffWl
(3) UPdldP^d^ 3TfW7

(4) 3Rf^fe 3#m

A teacher taught the concept of photosynthesis to the students. The teacher wants to ensure that
complete learning on the part of the students has taken place and it can be verified if the students
are able to :
(1) define the process of photosynthesis.
(2) explain the process of photosynthesis diagrammatically.
(3) describe the social implication of photosynthesis that is the need of plantation.
(4) differenciate between autotrophic (photosynthesis) and heterotrophic mode of nutrition.

^ Htolcll % I ^IjfdpRcT T̂TT ^I6dl 11%WTf %^3#TTR 3fP<T f̂ TT % ^T3TT HrMIMd f̂ TT T̂T Hcbdl t^t5T3f^TT qTT :

(1) qf) Mfsbil! cFt ^I

(2) qfl ¥% T̂ ^ TFTflT^I

(3) % TTFrifaqr frf^cnst^ *fi ®TPTH =Ft sncryq K̂iT 11
(4) HIM °l % ( y =bl^l-^v) q »J|) 3^R £i) £)Pto> % “#£1 3RR TIT I

In the context of human development, which one of the following begins during gestation and
continues throughout childhood ?
(1) Motor development
(2) Reflex action
(3) Cognitive development
(4) Sensory development
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 Options:-  

.1, Option ID :- 181,  

. 2, Option ID :- 182,  

. 3, Option ID :- 183,  

. 4, Option ID :- 184,  

 Answer Given:- 4, Option ID : -184  
   
   
 Question ID:- 47  

   

 Options:-  

.1, Option ID :- 185,  

. 2, Option ID :- 186,  

. 3, Option ID :- 187,  

. 4, Option ID :- 188,  

 Answer Given:- 1, Option ID : -185  
   
   
 Question ID:- 48  
   

P̂ HH % P, PIMRIRSM 3 ffatf 'HHfd ^ *fRt Wt?
(1) JlRl=b fa=hl*l
(2) yfd^dl t̂ TT

(3) H5lMlrH°h fddil'H
(4) fc( =hm

Among humans, the process of emotioned development is :
(1) linear
(2) cyclical
(3) rectilinear
(4) parabolic

HH <=JY 3 ^i^Pi =h Pc( =hH yfW),m Îcft % :

(1)
(2) ^9hl^
(3) TRvT

(4) H <c|elf^ch

Among human beings, which one of the following is a necter ending in nature ?
(1) Maturation
(2) Puberty
(3) Growth
(4) Development
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 Options:-  

.1, Option ID :- 189,  

. 2, Option ID :- 190,  

. 3, Option ID :- 191,  

. 4, Option ID :- 192,  

 Answer Given:- 4, Option ID : -192  
   
   
 Question ID:- 49  

   

 Options:-  

.1, Option ID :- 193,  

. 2, Option ID :- 194,  

. 3, Option ID :- 195,  

. 4, Option ID :- 196,  

 Answer Given:- 2, Option ID : -194  
   
   
 Question ID:- 50  
   

HMcfi if Pinfeifed if H -HHiki T̂eft y^fci T̂ t?
(1) MRH'W'I

(2) (^Pf )

(3) iffe
(4) pR '̂ l'H

Conceptually, the terms growth and development are :
(1) same.

(2) different.
(3) opposite.

(4) synonym.

^feif 3fk fc( =hHH -H =bcrM'1 l

(1) M =IVHHH 11
(2) f*FT f I

(3) fa<rcfafl
(4) -crafati

'Sequentiality' means development is
(1) linear.

(2) progressive.
(3) orderly.

(4) coherent.
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 Options:-  

.1, Option ID :- 197,  

. 2, Option ID :- 198,  

. 3, Option ID :- 199,  

. 4, Option ID :- 200,  

 Answer Given:- 1, Option ID : -197  
   
 Subject : UTL_Q51-Q65_TGTHINDI  
   
   
 Question ID:- 51  

   

 Options:-  

.1, Option ID :- 201,  

. 2, Option ID :- 202,  

. 3, Option ID :- 203,  

. 4, Option ID :- 204,  

 Answer Given:- 4, Option ID : -204  
   
   
 Question ID:- 52  
   

* 3Hl^st> rH =bcir ^)T I" 1% f̂ TRT ^RTT % :

(1)
(2) ‘SrRtrR
(3)
(4)

Which is not a pillar of learning ?
(1) Learning to know
(2) Learning to do
(3) Learning to solve problems
(4) Learning to live together

RIHRIRSKI ^ % ?
(1) 'JlM'l % Rrly,

(2) % Rilf, 3lRblH
(3) SRFTl % fcTCr 3Tfwr
(4) ^ % fair 3#m

Which one is not a role of teacher in facilitating meaning making learning ?
(1) Creating an environment in which children would feel free to express their views
(2) Having intimate knowledge of student's, interests, attitudes and personality characteristics
(3) Recording of each student's perceptions on the issue for the benefit of all students
(4) Being unmindful of previous experience of each student in relation to the activity
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 Options:-  

.1, Option ID :- 205,  

. 2, Option ID :- 206,  

. 3, Option ID :- 207,  

. 4, Option ID :- 208,  

 Answer Given:- 4, Option ID : -208  
   
   
 Question ID:- 53  

   

 Options:-  

.1, Option ID :- 209,  

. 2, Option ID :- 210,  

. 3, Option ID :- 211,  

. 4, Option ID :- 212,  

 Answer Given:- 3, Option ID : -211  
   
   
 Question ID:- 54  
   

PIH1 iJI 3?ftylH *JJIH SHR R SP̂ IHcfo ' R̂ ĴH Î RlMRlRsd R R cbld-RI dS?I % ?
(1) T3^> T^TT dldlcK^I T̂HI

(2) °R 3TfRejj%qf RR ot|Rklcd ^R MtWlRi f̂TT <HldR=h ?fR

(3) Tr t̂ MtiRfcn %> eTT r̂ % MR g^RT ucJto-r MnRf R> IJCW ^TR =FT R=FI4
(4) IMlT % R®f*J R yrR <=h MlM % gR ^ H <dl6 ^ T̂RT

{MR R 3M R( -C|K ^)T "RR)

Which of the methods involves reflective thinking, reasoning and results from the achievement of
certain abilities, skills and attitude ?
(1) Project Method
(2) Discovery Method
(3) Problem Solving Method
(4) Play way Method

"Rfa-Rt MR R difd ^M RMdlRf, =hRlcil RR M TnM R RtM^=b Fd-dd, dRRdfd 3?R MR^IIM VllRld
RRt ?
(1) HRRI'JI'II MR
(2) SPRWRRT MR
(3) RHRMI RRPTH MR
(4) RfcT (TR R) MR

Observational learning may not be promoted by :
(1) Providing reward
(2) Discussing outcomes of such learning with the students
(3) Avoiding rehearsals
(4) Encouraging students for self assessment

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


 Options:-  

.1, Option ID :- 213,  

. 2, Option ID :- 214,  

. 3, Option ID :- 215,  

. 4, Option ID :- 216,  

 Answer Given:- 3, Option ID : -215  
   
   
 Question ID:- 55  

   

 Options:-  

.1, Option ID :- 217,  

. 2, Option ID :- 218,  

. 3, Option ID :- 219,  

. 4, Option ID :- 220,  

 Answer Given:- 1, Option ID : -217  
   
   
 Question ID:- 56  
   

3Tf*RFT gRT -sfeldl h?f f^RTI "5TT RdnTI %?
(1) W

(2) twrfsftrf % RT«T^SfffcPlR % H <1 UIIH Tt r̂at <M4)

(3) 3T«TTR

(4) f <4 4̂ ifsf T̂t TT-3TRKTT %cj Mlcttlfed

Which one of the following approaches is not be commonly used for developing the Curriculum ?
(1) Teacher centred
(2) Subject centred
(3) Child centred
(4) Life centred

Hldy^-qi % Pinh 3[dHRlfecI R R 1%Rf T̂FTR R5T RRFTcRI TPfR hff f^FRI RTdT t?
(1) SfKfTW ^> P<d

(2) fWT %fed
(3) RTR %f^h

(4) 'dldd ^> p£d

Which of the following statements is incorrect ?
(1) Competency is a learning objective
(2) Competencies can be evaluated
(3) Activities are key to achieving competencies
(4) There is no role of remedied teaching in competency based approach.
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 Options:-  

.1, Option ID :- 221,  

. 2, Option ID :- 222,  

. 3, Option ID :- 223,  

. 4, Option ID :- 224,  

 Answer Given:- 4, Option ID : -224  
   
   
 Question ID:- 57  

   

 Options:-  

.1, Option ID :- 225,  

. 2, Option ID :- 226,  

. 3, Option ID :- 227,  

. 4, Option ID :- 228,  

 Answer Given:- 1, Option ID : -225  
   
   
 Question ID:- 58  
   

iHHfdRsId if it ^#T-RT R# R# t ?
(1) ^SRTT TJ^r Stftm #cft 11
(2) <?§fclT3?f ^RT ‘̂ r'ihH f?RTT ^ ^=bdl % I

(3) cfSrtcTI YTO RRR F̂RRt f |

(4) ^tdl StimRcf d'MHIH if d^MRIcHdi f t̂^FT *j[M=hl R!?t 1? 1

Which one of the following statements is true ?
(1) Children are Capable of learning two or more languages at a time
(2) Home language of students can seriously interfere with their formal learning and therefore

should not be made medium of instruction.
(3) Implementing three language formula may create more complex difficulties in the system.
(4) Multilingualism can not be used as a resource in India.

PtHfciHad if it ^#T-RT t?
(1) ®Ud =fc RRR TR ^t qt 37f«R7 Rfal R R̂t f I

(2) 'STpff ^J? W n̂ln -dlRdi STRFTR if iRdiPT ^=t> d1 1? 3tffc ^Rm, f?I^tT
RT^Ft Riff «<dNl WdT -dlRn I

(3) fR-RIFt irfP^RR^ it yulldl if 'dfiddlti 1?[ tf =bd) f I

(4) RI>-Rmidld R>t RKd if RRo RRPR % t̂ if TPt)7!Riff fRRR RTTRT RIRM, I

Which one of the following is not a strength of experiential learning ?
(1) Stimulating learning
(2) Real learning environment
(3) Rigidity
(4) Learner Centred approach
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 Options:-  

.1, Option ID :- 229,  

. 2, Option ID :- 230,  

. 3, Option ID :- 231,  

. 4, Option ID :- 232,  

 Answer Given:- 3, Option ID : -231  
   
   
 Question ID:- 59  

   

 Options:-  

.1, Option ID :- 233,  

. 2, Option ID :- 234,  

. 3, Option ID :- 235,  

. 4, Option ID :- 236,  

 Answer Given:- 2, Option ID : -234  
   
   
 Question ID:- 60  
   

PinfelRad 3Tf*PTP ^>T 11^7 IĴ eT TSJ "diff % ?
(1) 3Tf*PTP

(2) diwfddi T̂fWR dldl^R >J|

(3) didHdl
(4) 3#̂ iHd>d[ %f^cf <J1HIH

Quantitative data can be best analyzed using :
(1) Assignments
(2) Questionnaires
(3) Projects
(4) Portfolios

ld>kdil "MPT =h<^> tiMlcH=h 1?RT kdfdH fd?<riqul fcpfT W kd>dl % ?
(1) ^TT (TpiTf^)

(2) WTTdfvPTT
(3)
(4) MV^RI41

Which one of the following is not a characteristic of a good tool of evaluation ?
(1) Reliability
(2) Incomprehensilibity
(3) Validity
(4) Objectivity
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 Options:-  

.1, Option ID :- 237,  

. 2, Option ID :- 238,  

. 3, Option ID :- 239,  

. 4, Option ID :- 240,  

 Answer Given:- 2, Option ID : -238  
   
   
 Question ID:- 61  

   

 Options:-  

.1, Option ID :- 241,  

. 2, Option ID :- 242,  

. 3, Option ID :- 243,  

. 4, Option ID :- 244,  

 Answer Given:- 4, Option ID : -244  
   
   
 Question ID:- 62  
   

PinRlRad ^WR ^f^facfT T?f % ?
(1) fci^ci'HHhcll
(2) 3MtqTpaTcfr

(3) twr
(4) c^Pl^dl

What is the main objective of 'assessment of learning' ?
Assessment of :
(1) Objectives of learning
(2) Learning gaps
(3) Process of learning
(4) Product of learning

‘ SlftFTP T̂T 3TR7CPT T̂T % ?
STf^TcPT

(1) 3lfWT %
(2) 3#PTP 3 Mhpfi

(3) 3TfWT yPstj-MI

(4) 3TfWT %

Which is not a principle of 'assessment for learning' ?
(1) Provision of effective feedback to students
(2) Principle of self assessment
(3) Provision for Peer Assessment
(4) Principle of focussing on final examination results
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 Options:-  

.1, Option ID :- 245,  

. 2, Option ID :- 246,  

. 3, Option ID :- 247,  

. 4, Option ID :- 248,  

 Answer Given:- 3, Option ID : -247  
   
   
 Question ID:- 63  

   

 Options:-  

.1, Option ID :- 249,  

. 2, Option ID :- 250,  

. 3, Option ID :- 251,  

. 4, Option ID :- 252,  

 Answer Given:- 4, Option ID : -252  
   
   
 Question ID:- 64  
   

PinRiRsid Ff W ‘ SlftPlFf % fair lichen ’ pH «si<i 1? ?
(1) fsf?ITf«Hf ^bU^di ^>T 3M*IH

(2) T̂ —atldidd^ Pdo&id
(3) 3H [<+> crH îT yid F̂R

(4) 3ffdP 'Tft'^TT MRUIIM ^ RH«&ICI

For teaching geometrical theorem to class VIII students, which one of the following methods would
be most desirable ?
(1) Project Method
(2) Analytic-Synthetic method
(3) Deductive method
(4) Lecture-cum Demonstration method

^> 8JT-31T3 % "ST̂ PT fdHfdP̂ d P PMv dKSdl^ fhft ?
(1) HR.dl'ddi fsfRr
(2) Pdi^qui- 'Ri^qui

(3) PlJIHdlrH=h 1%f*J

(4) odlOMM-W-yd^H M%1

A teacher asks students to write summary of a given story. Which educational objective she/he is
testing ?
(1) Knowledge
(2) Comprehension
(3) Synthesis
(4) Analysis
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 Options:-  

.1, Option ID :- 253,  

. 2, Option ID :- 254,  

. 3, Option ID :- 255,  

. 4, Option ID :- 256,  

 Answer Given:- 3, Option ID : -255  
   
   
 Question ID:- 65  

   

 Options:-  

.1, Option ID :- 257,  

. 2, Option ID :- 258,  

. 3, Option ID :- 259,  

. 4, Option ID :- 260,  

 Answer Given:- 4, Option ID : -260  
   
 Subject : CCLE_Q66-Q80_TGTHINDI  
   
   
 Question ID:- 66  
   

^ ^^ RR Rl <sH %%T =b6dl % IR?1%RT ^>T '’RteR ^R R?T t ?
(1) W1

(2)

(3) R^TH

(4) f^H Î

The best way to handle a wrong response of a student in the class would be :
(1) to explain the subject matter once again
(2) to tell the student the answer is wrong
(3) to ask another student to give the correct answer
(4) to explain and give another chance to answer

RRJT3 r=f)4l W5f % ReRf TrR ^ PlMdH Rtf R^^RJ d <l =hl RRT i? PTT ?
(1) TJRT RR "JT: oidMl

(2) W% R> f R1T RdHI % STR RCTR f
(3) ^Rt WR R?t RTR^%%TJ R> $-]|

(4) RTS ch<dl 3^R <5TK ^ Rtf k,Ri sfR 3TRRT c^RT

In the context of diversity, which one of the following is an example of intra-group differentiation ?
(1) Teaching and non-teaching staff of a school
(2) PGTs of humanities, commerce and science streams
(3) Principals and school teachers
(4) PGTs, TGTs and primary teachers.
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 Options:-  

.1, Option ID :- 261,  

. 2, Option ID :- 262,  

. 3, Option ID :- 263,  

. 4, Option ID :- 264,  

 Answer Given:- 1, Option ID : -261  
   
   
 Question ID:- 67  

   

 Options:-  

.1, Option ID :- 265,  

. 2, Option ID :- 266,  

. 3, Option ID :- 267,  

. 4, Option ID :- 268,  

 Answer Given:- 3, Option ID : -267  
   
   
 Question ID:- 68  
   

fafasRTT % % PinfciRgd 3^%R “HI f̂ k’l'M'Ji T̂ ddi6<ui %?
(1) f^TRTl % f?T3R^ sftl W-TM-J
(2) HldP̂ dil, dlP̂M 3flT f%TH f%R %%
(3) U l̂HRlPf 3^k PiSilvia % f T̂SRi'

(4) % %t Zt, Zt Zt 3?K TtT l̂fe

According to the persons with Disabilities Act,1995 "Person with Disability" means the person is
suffering from not less than :
(1) 30% of any disability.
(2) 40% of any disability.
(3) 33% of any disability.
(4) 45% of any disability.

ft:?l=RT «lPdd 3lfaFl<tH, 1995% 3ppK OMPKI ’ t%f|oqfdd % f=F#tfecT^ t%: Jifl=K1clI

(1) f%Tft %:5?ldddl % 30 MRI^M

(2) P=hPl %:5>ldddl % 40 yftbfld

(3) P=hpl %:i>l=fddl % 33 Mpf^ld

(4) fdvnl *f%:!?i «=tddi % 45 yfd^m

The correct sequence of the stages of directive counselling is :
(1) Diagnosis, analysis, synthesis, counselling, prognosis, follow-up.
(2) Diagnosis, synthesis, analysis, counselling, prognosis, follow-up.
(3) Prognosis, analysis, diagnosis, synthesis, counselling, follow-up.
(4) Analysis, synthesis, diagnosis, prognosis, counselling follow-up.
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 Options:-  

.1, Option ID :- 269,  

. 2, Option ID :- 270,  

. 3, Option ID :- 271,  

. 4, Option ID :- 272,  

 Answer Given:- 3, Option ID : -271  
   
   
 Question ID:- 69  

   

 Options:-  

.1, Option ID :- 273,  

. 2, Option ID :- 274,  

. 3, Option ID :- 275,  

. 4, Option ID :- 276,  

 Answer Given:- 1, Option ID : -273  
   
   
 Question ID:- 70  

Pl^ilcH=b R t̂ 3TRPTF3Tt' RR Rft RTR f :

(1) PKH, icReh'Jl , RV?hul , WR f̂ , ^f^RH, SpjRtfR
(2) fRc[TR, WHW, fcl^W, WR?{, ^fjRH, SH^RifR
(3) ^RH, fRRH, RTC^faRT, WP?t SFjcnfR
(4) fci^qui, R ^r) fclul , fHRH, 'Ĵ t^RFT, XRTR^, SFJRtfR

Which one of the following cases shows that the student is mentally healthy ?
(1) A student who has failed in an examination, feels sad for 2-3 days and again starts preparation

for it.
(2) A student who has failed in an examination, does not care and keeps enjoying life as before.

(3) A student who has failed in an examination, feels sad for weeks and parents console him to
again prepare for the examination.

(4) A student who has failed in an examination, feels guilty and decides to take a leave from
school and stay at home for few days.

PinRiRgd 3^R?TR RT HIHCRI Rf % % Wf RMPR^ it %?
(1) WR ^ RTt^tT if 31RRxR ft RRT t, 2-3f^ft RRTR RfRT % 3fR ‘JR: fR% rlRlii Rp; RR: ^RT % I

(2) ROR- WR -5ft Rftajr i f 3TRWT ft RRTt, fRR>t RRRTf Rff RTRTF t 3llT Rf^ RTt cRf RftRR RR SfTRR^RT TfRT
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 Options:-  

.1, Option ID :- 277,  

. 2, Option ID :- 278,  

. 3, Option ID :- 279,  

. 4, Option ID :- 280,  

 Answer Given:- 2, Option ID : -278  
   
   
 Question ID:- 71  

   

 Options:-  

.1, Option ID :- 281,  

. 2, Option ID :- 282,  

. 3, Option ID :- 283,  

. 4, Option ID :- 284,  

 Answer Given:- 2, Option ID : -282  
   
   
 Question ID:- 72  

For developing writing skills among class VII students, which one of the following will be the most
appropriate activity ?
(1) Asking the students to describe the 'Power of President'
(2) Asking the students to describe 'My experience of class VII'
(3) Asking the students to write an essay on 'Independence Day'
(4) Asking the students to describe the title 'My one Day at Moon'

ĴT-VII % WFf if critslH ^TF4 % fvTIT PiHicinsd if 3 F̂ ff^T fiJPFT FfM? ?
(1) ^ <I^HRI ^F4 'tie'll I

(2) W#^‘W^T-Vn % ift ^ =h6dl I

(3) fasJffsftTl ‘ Fddddl P?3FT’^ fF̂ T idtsH % fFTtr =b£dl I

(4) ‘ FT fcr’ =FT FT?RT I

Which one of the following topics cannot be taught, to the school students, through 'community as
a learning resource' ?
(1) Concept of floral diversity
(2) Concept of fermentation
(3) Concept of electron beam
(4) Concept of friction

Slf P̂TP FTPR % FF F FPJFR’^FT̂ FT Ff F5T?t FF FiR FIT Rff F3FTT W FRRT %?
(1) fafofcFTT FRTRRT

(2) Pd̂ qd Fit FNTRPTT
(3) 5<rlcteH "jsf F>t FTFiFFFT

(4) Fit FTFFFFT
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 Options:-  

.1, Option ID :- 285,  

. 2, Option ID :- 286,  

. 3, Option ID :- 287,  

. 4, Option ID :- 288,  

 Answer Given:- 4, Option ID : -288  
   
   
 Question ID:- 73  

   

 Options:-  

.1, Option ID :- 289,  

. 2, Option ID :- 290,  

. 3, Option ID :- 291,  

. 4, Option ID :- 292,  

 Answer Given:- 3, Option ID : -291  
   
   
 Question ID:- 74  

Which one of the following may not be a function of a coach ?
(1) Training
(2) Teaching
(3) Monitoring
(4) Advocating

PlH 3^ dild T(T ydi ^)t̂ f <w4 d$7 iff <Hd>dl ?
(1)
(2) fwm

(3)
(4)

Which one of the following options may not be a characteristic of educational instruction ?
(1) Instructions are about dos and don'ts.

(2) Instructions involve detailed information.

(3) Instructions are warnings.

(4) Instructions help in making a task achievable.

fdc^l F̂T ^ "STT ^^^c(xi| %?
(1) fr^i wf t, %> «ift3i?frMsh
(2) fd^ll ^RI ^Tf ^IIIHCI 11
(3) fd^l 4d|c( dl #jt % I

(4) fr^i ^>r4^ 3FRH ^f I
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 Options:-  

.1, Option ID :- 293,  

. 2, Option ID :- 294,  

. 3, Option ID :- 295,  

. 4, Option ID :- 296,  

 Answer Given:- 3, Option ID : -295  
   
   
 Question ID:- 75  

   

 Options:-  

.1, Option ID :- 297,  

. 2, Option ID :- 298,  

. 3, Option ID :- 299,  

. 4, Option ID :- 300,  

 Answer Given:- 3, Option ID : -299  
   
   
 Question ID:- 76  

While setting goals in teaching learning, the teacher can overlook the fact that :
(1) Set goals are achievable
(2) Set goals are understandable by each student
(3) Set goals are finally and fully achieved by one and all
(4) Set goals are set in easy language

fW°l 3Tf*RH % cR f̂ T cfR^ ^ -H'fcdl 1? ?
(1) cR 'RTR 1%nr 'StT 1? I

(2) cR 15Rf 'gRF %R f I

(3) cR RSR 3fcR: 'gRT '’jff cRIT UTR feR RTcf f |

(4) cR 3TRH *[RT 3 f I

Which one of the following may not be a characteristic of school teacher as a team builder ?
(1) Motivator
(2) Coordinator
(3) Democratic controller
(4) Aim setter

TRi din «Hl^ dlv) S-fRPRi % 3, PlH ^ T̂T TRi *1 $?) iff <HcbCll ?
(1) <3rt) <=h

(2)
(3) y'Jliclifacb f^R5R7

(4) c1 <H =hdf
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 Options:-  

.1, Option ID :- 301,  

. 2, Option ID :- 302,  

. 3, Option ID :- 303,  

. 4, Option ID :- 304,  

 Answer Given:- 2, Option ID : -302  
   
   
 Question ID:- 77  

   

 Options:-  

.1, Option ID :- 305,  

. 2, Option ID :- 306,  

. 3, Option ID :- 307,  

. 4, Option ID :- 308,  

 Answer Given:- 3, Option ID : -307  
   
   
 Question ID:- 78  

The tasks of school leadership is not to :
(1) Stimulate learners to win a sports trophy
(2) Pass judgemental remarks
(3) Seek a balance between curricular and co-curricular activities
(4) Aspire for good school results

7̂ TTT Riff %?
(1) srfipTP RR Ttrr Rurt 41ci}

(2) feocfcrfj R77RT

(3) TBRRPlfcft 13 =1 RTSil'sFR TTiFTTRt RfaMsPTf 3TRJTFf ^RPTT

(4) 3T^ TfiTT H R,J 11 Hi 3TlRiT8JT RiTRT

Who among the following may prove to be least helpful in developing a vision for a rural school ?
(1) Village pradhan
(2) Town and country planner
(3) An educational tour operator
(4) State health officer

ifl R =bdl %?illHlul TfjTT ffe PIHWI %5 fTR 3 TIT TPTTf

(1) 7TFT 7J*JH

(2) dvWI TT UTR

(3) F̂PI 3TPte
(4) TRR ’WIT̂ -T 3Tf̂ =hl(l

RTR WPT̂
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 Options:-  

.1, Option ID :- 309,  

. 2, Option ID :- 310,  

. 3, Option ID :- 311,  

. 4, Option ID :- 312,  

 Answer Given:- 2, Option ID : -310  
   
   
 Question ID:- 79  

   

 Options:-  

.1, Option ID :- 313,  

. 2, Option ID :- 314,  

. 3, Option ID :- 315,  

. 4, Option ID :- 316,  

 Answer Given:- 3, Option ID : -315  
   
   
 Question ID:- 80  

Which one of the following may not be a aim of education for a T.G.T. ?
(1) Remember by heart the part of Indian constitution education
(2) Training in following traffic rules
(3) To help in making civilized citizens
(4) Training students for thinking and reasoning

PlH 3 Tl chH ycfc fWHT "3»T 'l l̂ I? f Mct5Cll % ?
(1) 3fw cfT^t ffTF& f̂ffcT^ T̂T

(2) ^Icll^lcl % fn^Hl TTeTFf 3iT ‘SlfW11?^Tf

(3) TTR HMlRcb "^TT^ B TRjBPTT ^fT

(4) W3T^TfRH 3^TT cl3> TTH îT ’STf^ISP*!^TT

By talking of holistic development, NEP-2020 wants to pay attention on :
(1) Filling up the holes in our education system
(2) Equality of opportunities in education
(3) Giving due importance to all-cognitive, conative and affective domains
(4) Designing same course throughout India

NEP-2020 % f?T3JT F̂T̂ f Tf fcfc -H R ^ =t> $l 1? ?
(1) fcm ^qcTF*TT B W ^R

(2) RrejT 3 ST R̂Kf^ ffMHcll R

(3) TPTt few HIWTTFRF R 3T t̂f^FcT

(4) TREcT WcT % TRH T̂Ft R
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 Options:-  

.1, Option ID :- 317,  

. 2, Option ID :- 318,  

. 3, Option ID :- 319,  

. 4, Option ID :- 320,  

 Answer Given:- 4, Option ID : -320  
   
 Subject : Hindi_Q81-Q180_TGTHINDI  
   
   
 Question ID:- 81  

   

 Options:-  

.1, Option ID :- 321,  

. 2, Option ID :- 322,  

. 3, Option ID :- 323,  

. 4, Option ID :- 324,  

 Answer Given:- 3, Option ID : -323  
   
   
 Question ID:- 82  

   

 Options:-  

Which document talked of computer learning in education for the first time after independence ?
(1) Radhakrishnan Commission
(2) Mudaliar Commission
(3) Kothari Commission
(4) NEP-1986

Tdd
’
ddl % fllisH 1>f WT H ?

(1) 3H4lJl
(2) STRR
(3) =blc5 l <f 3Tl 4) Jl

(4) NEP-1986

* dl=f> Jftd ’ fl̂ Sf % 3TPTR ’’ll ddI$M, %flR%ft31 if if T̂PT TIT Wt iff t :

(1) 3pRT WRT ^1 if fepjf % iffcff lif “t |

(2) fepn lit WRIT if wff 11
(3) 4 lid % Jftdl % 3Ncb ydiK iff f I

(4) ¥fWJ % I

‘ if TRi "fTlt fls’ TUT f :

(1) =bfddl
(2) dHJf)d

(3) WTlf
(4) fn'l
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.1, Option ID :- 325,  

. 2, Option ID :- 326,  

. 3, Option ID :- 327,  

. 4, Option ID :- 328,  

 Answer Given:- 1, Option ID : -325  
   
   
 Question ID:- 83  

   

 Options:-  

.1, Option ID :- 329,  

. 2, Option ID :- 330,  

. 3, Option ID :- 331,  

. 4, Option ID :- 332,  

 Answer Given:- 2, Option ID : -330  
   
   
 Question ID:- 84  

   

 Options:-  

.1, Option ID :- 333,  

. 2, Option ID :- 334,  

. 3, Option ID :- 335,  

. 4, Option ID :- 336,  

 Answer Given:- 1, Option ID : -333  
   
   
 Question ID:- 85  

   

 Options:-  

.1, Option ID :- 337,  

. 2, Option ID :- 338,  

* RRTR f ’ RRTI % 37RIR ''R efR3t - R̂t^f RTFTt *Rcft %?ft ®ff ?
(1) %j ĉl RSRfcft "'R ylfal4) RTeft
(2) W% Rft 'R TIFft fR#T

(3) SfRTffcRT MtNc(<i’ RTeft
(4) 3TRRT R «R

* fd<*>d-3H?HH ’ ch^Hl f̂JcTcT; feRT <H <sl=b %?
(1) W3R

(2) R̂TcT -llcrlf «=h<
(3) ^RTTRRRTRt
(4) ^JRfa 3R2R

(1) 'RRRR

(2) HMll'j['l
(3) ^fR^FT^T R?f

(4) f^eTlRR
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. 3, Option ID :- 339,  

. 4, Option ID :- 340,  

 Answer Given:- 1, Option ID : -337  
   
   
 Question ID:- 86  

   

 Options:-  

.1, Option ID :- 341,  

. 2, Option ID :- 342,  

. 3, Option ID :- 343,  

. 4, Option ID :- 344,  

 Answer Given:- 4, Option ID : -344  
   
   
 Question ID:- 87  

   

 Options:-  

.1, Option ID :- 345,  

. 2, Option ID :- 346,  

. 3, Option ID :- 347,  

. 4, Option ID :- 348,  

 Answer Given:- 3, Option ID : -347  
   
   
 Question ID:- 88  

   

 Options:-  

.1, Option ID :- 349,  

. 2, Option ID :- 350,  

. 3, Option ID :- 351,  

. 4, Option ID :- 352,  
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 Answer Given:- 1, Option ID : -349  
   
   
 Question ID:- 89  

   

 Options:-  

.1, Option ID :- 353,  

. 2, Option ID :- 354,  

. 3, Option ID :- 355,  

. 4, Option ID :- 356,  

 Answer Given:- 1, Option ID : -353  
   
   
 Question ID:- 90  

   

 Options:-  

.1, Option ID :- 357,  

. 2, Option ID :- 358,  

. 3, Option ID :- 359,  

. 4, Option ID :- 360,  

 Answer Given:- 2, Option ID : -358  
   
   
 Question ID:- 91  

   

 Options:-  

.1, Option ID :- 361,  

. 2, Option ID :- 362,  

. 3, Option ID :- 363,  

. 4, Option ID :- 364,  

(1)
(2)

(3) frsfa
(4) Wffl

< xTR ':Ti5R %’ ch^nl If qRcJK n̂?T T^cfT 8TT ?
(1) H3HJk ^f
(2) «P#T % 4>MHl If
(3) W °F>t T̂cft If
(4) ^If

< 7TteI f F̂R,

3TN ^5R 37Tcf f ^KT’ I

ctiloH Hpftl T̂ fevTT <-cm "I f> ?
(1) T̂t

(2) 4TT8ft ¥I«T GISHT

(3) ^If TP̂ t
(4) If 47̂ 1 sJfst Ff <5>
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 Answer Given:- 3, Option ID : -363  
   
   
 Question ID:- 92  

   

 Options:-  

.1, Option ID :- 365,  

. 2, Option ID :- 366,  

. 3, Option ID :- 367,  

. 4, Option ID :- 368,  

 Answer Given:- 1, Option ID : -365  
   
   
 Question ID:- 93  

   

 Options:-  

.1, Option ID :- 369,  

. 2, Option ID :- 370,  

. 3, Option ID :- 371,  

. 4, Option ID :- 372,  

 Answer Given:- 4, Option ID : -372  
   
   
 Question ID:- 94  

   

 Options:-  

.1, Option ID :- 373,  

. 2, Option ID :- 374,  

. 3, Option ID :- 375,  

. 4, Option ID :- 376,  

 Answer Given:- 2, Option ID : -374  
   
   
 Question ID:- 95  

PinfeiRaci 3^JTT MI®M1 T^HT % :

(1)
(2) 3T$Rf TJ&sf

(3) "RR %
(4) RRTR "JĴ cRFt

3ftr IFTKT ?rcfc ’ f^Rt T̂ RT % ?
(1)
(2) frafa
(3) ^ddl

(4) H.ohfobl

‘ =FT5fT ’ =hglH) TJeRT: f^RT T̂RfT F̂t t
(1) Held MM

(2) T̂f
(3) 4 feM\

(4)
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 Options:-  

.1, Option ID :- 377,  

. 2, Option ID :- 378,  

. 3, Option ID :- 379,  

. 4, Option ID :- 380,  

 Answer Given:- 1, Option ID : -377  
   
   
 Question ID:- 96  

   

 Options:-  

.1, Option ID :- 381,  

. 2, Option ID :- 382,  

. 3, Option ID :- 383,  

. 4, Option ID :- 384,  

 Answer Given:- 2, Option ID : -382  
   
   
 Question ID:- 97  

   

 Options:-  

.1, Option ID :- 385,  

. 2, Option ID :- 386,  

. 3, Option ID :- 387,  

^T R̂T ‘ ^ T^Rrt :

(1) «t»*Hl
(2) fraV
(3) cSM -̂ m
(4) MFI

“^|chl^| ^)T?1TOT «l1k=h<

^ P̂ frlH dT^dl,

^cJI|t H^lS,

3RfpT MH+TI -MT f^RI chfcJdl k f ?
(1) faw-Wf

(2) *frt 3?RWJ3\

(3) RH Î

(4) Wl-T^ RU'HH

‘ e)d< T̂=HH, Cis=t>1 3^R Pl^fcrlRsicI 3k f^RT T5RT k kWfacT f ?
(1) 3TT9FT T̂ 3^MlfHc1 °ZRT

(2) kft fki?
(3)
(4) WT-T33T Rh'HM
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. 4, Option ID :- 388,  

 Answer Given:- 3, Option ID : -387  
   
   
 Question ID:- 98  

   

 Options:-  

.1, Option ID :- 389,  

. 2, Option ID :- 390,  

. 3, Option ID :- 391,  

. 4, Option ID :- 392,  

 Answer Given:- 3, Option ID : -391  
   
   
 Question ID:- 99  

   

 Options:-  

.1, Option ID :- 393,  

. 2, Option ID :- 394,  

. 3, Option ID :- 395,  

. 4, Option ID :- 396,  

 Answer Given:- 2, Option ID : -394  
   
   
 Question ID:- 100  

   

 Options:-  

.1, Option ID :- 397,  

. 2, Option ID :- 398,  

. 3, Option ID :- 399,  

. 4, Option ID :- 400,  

 Answer Given:- 1, Option ID : -397  
   
   

rv .«fic'i1 ?f4
TrI

sflC
/

I
%

4
u :

* fu >
£

l
g

i
£

15
15*

I
cE

11 Ji
T

15:
ci&J

S
S

S
i

s
s
s
s

f
S

S
5

s

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


 Question ID:- 101  

   

 Options:-  

.1, Option ID :- 401,  

. 2, Option ID :- 402,  

. 3, Option ID :- 403,  

. 4, Option ID :- 404,  

 Answer Given:- 3, Option ID : -403  
   
   
 Question ID:- 102  

   

 Options:-  

.1, Option ID :- 405,  

. 2, Option ID :- 406,  

. 3, Option ID :- 407,  

. 4, Option ID :- 408,  

 Answer Given:- 2, Option ID : -406  
   
   
 Question ID:- 103  

   

 Options:-  

.1, Option ID :- 409,  

. 2, Option ID :- 410,  

. 3, Option ID :- 411,  

. 4, Option ID :- 412,  

 Answer Given:- 2, Option ID : -410  
   
   
 Question ID:- 104  

‘^t TRT * % <rl<9=ti t :

(1) W
(2) ^R;

(3) RflefM'HK fcft?

(4) zt. WTT*R

‘wrf - ^<adl %^R "if
3TRt - T̂5q HT'KI T̂ f̂ T cbfadl ^ ^f ?
(1) fcmriq-^TFR

(2) FH Wt d-yckl WT %
(3) 1̂? r̂ fe-Mi

(4) ^tcTRf F̂>t *?Rt

‘^T0[ oOT if H^TM tR TtR RTCTT «3fV, îT°q xffR3T f^T <=hfc4dl it eft^%?
(1) f=T<rta - TjFqTj

(2)
(3) cbdjjdefl
(4) =fft ?>Rt
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 Options:-  

.1, Option ID :- 413,  

. 2, Option ID :- 414,  

. 3, Option ID :- 415,  

. 4, Option ID :- 416,  

 Answer Given:- 1, Option ID : -413  
   
   
 Question ID:- 105  

   

 Options:-  

.1, Option ID :- 417,  

. 2, Option ID :- 418,  

. 3, Option ID :- 419,  

. 4, Option ID :- 420,  

 Answer Given:- 4, Option ID : -420  
   
   
 Question ID:- 106  

   

 Options:-  

.1, Option ID :- 421,  

. 2, Option ID :- 422,  

. 3, Option ID :- 423,  

. 4, Option ID :- 424,  

 Answer Given:- 2, Option ID : -422  
   
   
 Question ID:- 107  
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 Options:-  

.1, Option ID :- 425,  

. 2, Option ID :- 426,  

. 3, Option ID :- 427,  

. 4, Option ID :- 428,  

 Answer Given:- 2, Option ID : -426  
   
   
 Question ID:- 108  

   

 Options:-  

.1, Option ID :- 429,  

. 2, Option ID :- 430,  

. 3, Option ID :- 431,  

. 4, Option ID :- 432,  

 Answer Given:- 2, Option ID : -430  
   
   
 Question ID:- 109  

   

 Options:-  

.1, Option ID :- 433,  

. 2, Option ID :- 434,  

. 3, Option ID :- 435,  

. 4, Option ID :- 436,  

 Answer Given:- 3, Option ID : -435  
   
   
 Question ID:- 110  

Hld^shH HUMI!? % ^TFT ^ M'Hjcl =hfadl *^ 3?R ®K<ai’ "*¥ ‘ JI<JCH % «3c)lV F̂TJ 3T^ f :

(1) ’ftstff T=1<I Î c||<rl
(2) ^ffeTt °TM

(3) ^>T Wl =R^
(4) ifteflf^ "^TRT Rarll'i

fanfeiRsld 3^ # T5RT >dlf®R ig^T^ I?!f ?
(1) ‘S’tcTT T̂ ‘Rpnr

(2) 3^dld ^)T %RT
(3) mt
(4) ^ Ĥeff 1̂ ^iRsld H=bH

‘zrit ’ del'll % 3TNR -qr Oldl^q,% % W ‘RfR T# «ft ?
(1) $af
(2) ^tZ

(3) fW
(4) 3i|c«chl(i
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 Options:-  

.1, Option ID :- 437,  

. 2, Option ID :- 438,  

. 3, Option ID :- 439,  

. 4, Option ID :- 440,  

 Answer Given:- 3, Option ID : -439  
   
   
 Question ID:- 111  

   

 Options:-  

.1, Option ID :- 441,  

. 2, Option ID :- 442,  

. 3, Option ID :- 443,  

. 4, Option ID :- 444,  

 Answer Given:- 4, Option ID : -444  
   
   
 Question ID:- 112  

   

 Options:-  

.1, Option ID :- 445,  

. 2, Option ID :- 446,  

. 3, Option ID :- 447,  

. 4, Option ID :- 448,  

 Answer Given:- 1, Option ID : -445  
   
   
 Question ID:- 113  

3?R ctl^til PinlVlRslcl 3^ T̂ HT^'?M^cT^f ?
(1) +̂ TT

(2) 'fld+d

(3) ^ 3*3̂
(4) ^PTf ^^

^T dlMd %^ft, f̂f ch+ft l' TTfSRT % 3TWR fWî <HHH ®ldWI 1? ?
(1) =b«c( l =hVll
(2) eb'^1^
(3) f̂vf T̂ ‘dfa
(4) 4i+4l

‘ T̂Rft^THt ’ =hf^dl <*> Kr1Mfd ^H^i-^W^i =hldl T̂5T ftr cTl|’ xf1% %‘RI^ZR 'ft "Wt :

(1) ft?rft 3TV̂ R - T̂T?T «n
(2) ftftftt WFR TO «TT

(3) <MI oRt ijrg ft TRft 8ft
(4) sdftft 3#3f SJJ
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 Options:-  

.1, Option ID :- 449,  

. 2, Option ID :- 450,  

. 3, Option ID :- 451,  

. 4, Option ID :- 452,  

 Answer Given:- 2, Option ID : -450  
   
   
 Question ID:- 114  

   

 Options:-  

.1, Option ID :- 453,  

. 2, Option ID :- 454,  

. 3, Option ID :- 455,  

. 4, Option ID :- 456,  

 Answer Given:- 2, Option ID : -454  
   
   
 Question ID:- 115  

   

 Options:-  

.1, Option ID :- 457,  

. 2, Option ID :- 458,  

. 3, Option ID :- 459,  

. 4, Option ID :- 460,  

 Answer Given:- 2, Option ID : -458  
   
   
 Question ID:- 116  
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 Options:-  

.1, Option ID :- 461,  

. 2, Option ID :- 462,  

. 3, Option ID :- 463,  

. 4, Option ID :- 464,  

 Answer Given:- 4, Option ID : -464  
   
   
 Question ID:- 117  

   

 Options:-  

.1, Option ID :- 465,  

. 2, Option ID :- 466,  

. 3, Option ID :- 467,  

. 4, Option ID :- 468,  

 Answer Given:- 1, Option ID : -465  
   
   
 Question ID:- 118  

   

 Options:-  

.1, Option ID :- 469,  

. 2, Option ID :- 470,  

. 3, Option ID :- 471,  

* cKII Iv3TT :

(1)
(2) TTFTRT
(3) 3H <^ =pTR 1W
(4) SRJT '̂ IKCIM'I

4 < 3T®J 3HIHHI 3^k Mil^ l ^TI ?
3THT^ 7?f I

«f 3kwi
SR SFFf ®f*FT I ’ ’

y *<Jd yfckiqT f3R3 =hfc)dl =Ft f :

(1)
(2) <1CIH1cpt i?wt
(3) % siRtik,

(4) ^ H ®!^ =hfcJd HM'M R f̂f

4 ^ "^TM’ dlH =h ^TT ^% ?
(1) W

(2) ffar
(3) WI

(4)
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. 4, Option ID :- 472,  

 Answer Given:- 2, Option ID : -470  
   
   
 Question ID:- 119  

   

 Options:-  

.1, Option ID :- 473,  

. 2, Option ID :- 474,  

. 3, Option ID :- 475,  

. 4, Option ID :- 476,  

 Answer Given:- 3, Option ID : -475  
   
   
 Question ID:- 120  

   

 Options:-  

.1, Option ID :- 477,  

. 2, Option ID :- 478,  

. 3, Option ID :- 479,  

. 4, Option ID :- 480,  

 Answer Given:- 2, Option ID : -478  
   
   
 Question ID:- 121  

   

 Options:-  

.1, Option ID :- 481,  

. 2, Option ID :- 482,  

. 3, Option ID :- 483,  

‘ -ipcj-Tpj^ rlŝ lci -H dM«Hl ej*TT 4,

3T̂ R lc( -jfjcn Sfijtf W't '#Ef ^TT 4 I *

y^Jd MpldMl % <*todl f :

(1)

(2) N3i*i^r «=h<
(3) ^4<=hirl BlMIdl pKIdl

(4) -CKUI dnf

PlMPdRsId 4 difadl ijd^3^Ft ^fg k 3TO4d f
(1) d>4k 4l?ft F̂>T^̂ 4
(2) ^% -q?
(3) ^RT f̂ftcT
(4) erf?f

elldMcrM

ftrarTT
3tf44 % Trfrf HMdld kid'll

* ’ d> fadl % *-ddld> k t
(1) *j4d> Id Pi Midi Pkldl
(2) ^PRcff °Rf
(3) fa?f

(4) TR*lRt iW fcJHdk
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. 4, Option ID :- 484,  

 Answer Given:- 1, Option ID : -481  
   
   
 Question ID:- 122  

   

 Options:-  

.1, Option ID :- 485,  

. 2, Option ID :- 486,  

. 3, Option ID :- 487,  

. 4, Option ID :- 488,  

 Answer Given:- 1, Option ID : -485  
   
   
 Question ID:- 123  

   

 Options:-  

.1, Option ID :- 489,  

. 2, Option ID :- 490,  

. 3, Option ID :- 491,  

. 4, Option ID :- 492,  

 Answer Given:- 2, Option ID : -490  
   
   
 Question ID:- 124  

   

 Options:-  

.1, Option ID :- 493,  

. 2, Option ID :- 494,  

. 3, Option ID :- 495,  

. 4, Option ID :- 496,  

 Answer Given:- 1, Option ID : -493  
   
   

f :

(1) 3WiyiM<
(2) PdciKl
(3) ^ r̂cm
(4) y*rr

‘ f̂ f HIHdi T F̂Tlt :

(1)

(2) Rl’HldJ'd
(3) T̂T T̂^cTTcf

(4)

^T HCII^ ( t̂cTcft) ta :

(1) 3TMH3TRT

(2) yR^3TT3fq

(3) *1^(4) ya r̂
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 Question ID:- 125  

   

 Options:-  

.1, Option ID :- 497,  

. 2, Option ID :- 498,  

. 3, Option ID :- 499,  

. 4, Option ID :- 500,  

 Answer Given:- 1, Option ID : -497  
   
   
 Question ID:- 126  

   

 Options:-  

.1, Option ID :- 501,  

. 2, Option ID :- 502,  

. 3, Option ID :- 503,  

. 4, Option ID :- 504,  

 Answer Given:- 2, Option ID : -502  
   
   
 Question ID:- 127  

   

 Options:-  

.1, Option ID :- 505,  

. 2, Option ID :- 506,  

. 3, Option ID :- 507,  

. 4, Option ID :- 508,  

 Answer Given:- 3, Option ID : -507  
   
   
 Question ID:- 128  

‘ "SR 3 33 TsTST f3TT, %TT cRM 8TI %TTft 'SR *? ^Pl T̂, ^ cTR Î, Îdfd t̂, cTlfe, =R3ft 3?fc «f f̂ ^ |'
STRIcT facRUI feR 4>'tfHi ^f ?
(1) %R

(2) ^TR^R

(3) 3Rft
(4) RR3^

‘ RITTRRf chfd'l 7RRT 3Ff 1?’1%R 1%RT^7̂ 31 %?
(1) ch6l'l1
(2) =bfadl
(3) 1Wf

(4) \<afcn

RFMwftt’7 ĤT^ fa*Trt :

(1) fiafa
(2)

(3) =bicidl
(4) }<3lP=l3
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 Options:-  

.1, Option ID :- 509,  

. 2, Option ID :- 510,  

. 3, Option ID :- 511,  

. 4, Option ID :- 512,  

 Answer Given:- 3, Option ID : -511  
   
   
 Question ID:- 129  

   

 Options:-  

.1, Option ID :- 513,  

. 2, Option ID :- 514,  

. 3, Option ID :- 515,  

. 4, Option ID :- 516,  

 Answer Given:- 1, Option ID : -513  
   
   
 Question ID:- 130  

   

 Options:-  

.1, Option ID :- 517,  

. 2, Option ID :- 518,  

. 3, Option ID :- 519,  

. 4, Option ID :- 520,  

 Answer Given:- 2, Option ID : -518  
   
   
 Question ID:- 131  

% 3TRJR ®ldl$i<% cbi'JlVl'U ^f^4|<*1<;K R^3Tf^$IFJ1<) eft 3TTCI ft <RI%1?T*J ft
F̂qisn ?
(1) wft
(2) eTTSt
(3) eiid^H

(4) eTRft

‘ F̂RM ftt f^Tl’ =bfadl % <^P-ld! f :

(1) ftsdftd c^dlel
(2) TftteT 'ft'ft
(3) 2h'<RHW fw
(4) ?TR^R ft-TF

‘‘ gPl’Ml ftt 6^1ft RTlftt ft TpRcf ftT wft, '3>TRxR F̂TTft 'tl’’
TTRJF M’Pklft ft f :

(1) dHll^d

(2) TFftrftft
(3) ^=bid ^Idlel
(4) Hfas
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 Options:-  

.1, Option ID :- 521,  

. 2, Option ID :- 522,  

. 3, Option ID :- 523,  

. 4, Option ID :- 524,  

 Answer Given:- 2, Option ID : -522  
   
   
 Question ID:- 132  

   

 Options:-  

.1, Option ID :- 525,  

. 2, Option ID :- 526,  

. 3, Option ID :- 527,  

. 4, Option ID :- 528,  

 Answer Given:- 4, Option ID : -528  
   
   
 Question ID:- 133  

   

 Options:-  

.1, Option ID :- 529,  

. 2, Option ID :- 530,  

. 3, Option ID :- 531,  

. 4, Option ID :- 532,  

 Answer Given:- 1, Option ID : -529  
   
   
 Question ID:- 134  
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 Options:-  

.1, Option ID :- 533,  

. 2, Option ID :- 534,  

. 3, Option ID :- 535,  

. 4, Option ID :- 536,  

 Answer Given:- 4, Option ID : -536  
   
   
 Question ID:- 135  

   

 Options:-  

.1, Option ID :- 537,  

. 2, Option ID :- 538,  

. 3, Option ID :- 539,  

. 4, Option ID :- 540,  

 Answer Given:- 2, Option ID : -538  
   
   
 Question ID:- 136  

   

 Options:-  

.1, Option ID :- 541,  

. 2, Option ID :- 542,  

. 3, Option ID :- 543,  

. 4, Option ID :- 544,  

 Answer Given:- 2, Option ID : -542  
   
   
 Question ID:- 137  

‘ =bfc|dl % 37NR ĤclISM, % ygHI dld^H <i<S=h < l̂'J> bUl T̂T Hdl^ll "gf ?
(1) ^f3TT

(2) r̂̂ f PKMI
(3) ^ +m+ TTO;
(4) ^ =h <=\uu 'HR3R fft eFt

t?WR % PR i =t)^=t)l
(1) IRJRt TRTK Ps^dl
(2) H6lddl
(3) -dHdl

T̂ HT

(4) ^IHM^i ^

PinRiRgci 3 PIR ÎI ^> HK RT^ T̂ n^%
(1) RM 3?R fn^h
(2) cfteTT yoKfad
(3) %RRsTsr -cÎ cK)^
(4) f̂trRt^^‘^TM
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 Options:-  

.1, Option ID :- 545,  

. 2, Option ID :- 546,  

. 3, Option ID :- 547,  

. 4, Option ID :- 548,  

 Answer Given:- 2, Option ID : -546  
   
   
 Question ID:- 138  

   

 Options:-  

.1, Option ID :- 549,  

. 2, Option ID :- 550,  

. 3, Option ID :- 551,  

. 4, Option ID :- 552,  

 Answer Given:- 4, Option ID : -552  
   
   
 Question ID:- 139  

   

 Options:-  

.1, Option ID :- 553,  

. 2, Option ID :- 554,  

. 3, Option ID :- 555,  

. 4, Option ID :- 556,  

 Answer Given:- 4, Option ID : -556  
   
   
 Question ID:- 140  
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 Options:-  

.1, Option ID :- 557,  

. 2, Option ID :- 558,  

. 3, Option ID :- 559,  

. 4, Option ID :- 560,  

 Answer Given:- 3, Option ID : -559  
   
   
 Question ID:- 141  

   

 Options:-  

.1, Option ID :- 561,  

. 2, Option ID :- 562,  

. 3, Option ID :- 563,  

. 4, Option ID :- 564,  

 Answer Given:- 2, Option ID : -562  
   
   
 Question ID:- 142  

   

 Options:-  

.1, Option ID :- 565,  

. 2, Option ID :- 566,  

. 3, Option ID :- 567,  

. 4, Option ID :- 568,  

 Answer Given:- 3, Option ID : -567  
   
   
 Question ID:- 143  

*TFT-23 f > ?
(1) 3
(2) cfa
(3) RR

(4) RTR

idHfdR^d R?R-RF R>̂ R^^f % :

(1) ^d l̂dl'H % <IH -dRdHM <H ^T3RT 3R*ft 3 I

(2) jJeRTtercr % difddlddl T̂ T WWI 3 Rft I

(3) cjcrofera % fdd'MHRtcbl ^IRRT 3TRRt if I

(4) cjdfil RTf T3RT3tf if TRR sfiT *jck) =b ^Rt RRiR % dilotTl F̂T P-lddl 11

‘WTT RR s|RT’ difddl % <Pd<4dl t :

(1)
(2) H'lC^I S«fcKrt

(3) fnft^TT <p[TC TTl^:
(4) %RnRTR 3RRTR
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 Options:-  

.1, Option ID :- 569,  

. 2, Option ID :- 570,  

. 3, Option ID :- 571,  

. 4, Option ID :- 572,  

 Answer Given:- 3, Option ID : -571  
   
   
 Question ID:- 144  

   

 Options:-  

.1, Option ID :- 573,  

. 2, Option ID :- 574,  

. 3, Option ID :- 575,  

. 4, Option ID :- 576,  

 Answer Given:- 2, Option ID : -574  
   
   
 Question ID:- 145  

   

 Options:-  

.1, Option ID :- 577,  

. 2, Option ID :- 578,  

. 3, Option ID :- 579,  

. 4, Option ID :- 580,  

 Answer Given:- 3, Option ID : -579  
   
   
 Question ID:- 146  
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 Options:-  

.1, Option ID :- 581,  

. 2, Option ID :- 582,  

. 3, Option ID :- 583,  

. 4, Option ID :- 584,  

 Answer Given:- 4, Option ID : -584  
   
   
 Question ID:- 147  

   

 Options:-  

.1, Option ID :- 585,  

. 2, Option ID :- 586,  

. 3, Option ID :- 587,  

. 4, Option ID :- 588,  

 Answer Given:- 1, Option ID : -585  
   
   
 Question ID:- 148  

   

 Options:-  

.1, Option ID :- 589,  

. 2, Option ID :- 590,  

. 3, Option ID :- 591,  

. 4, Option ID :- 592,  

 Answer Given:- 4, Option ID : -592  
   
   
 Question ID:- 149  
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 Options:-  

.1, Option ID :- 593,  

. 2, Option ID :- 594,  

. 3, Option ID :- 595,  

. 4, Option ID :- 596,  

 Answer Given:- 1, Option ID : -593  
   
   
 Question ID:- 150  

   

 Options:-  

.1, Option ID :- 597,  

. 2, Option ID :- 598,  

. 3, Option ID :- 599,  

. 4, Option ID :- 600,  

 Answer Given:- 1, Option ID : -597  
   
   
 Question ID:- 151  

   

 Options:-  

.1, Option ID :- 601,  

. 2, Option ID :- 602,  

. 3, Option ID :- 603,  

. 4, Option ID :- 604,  

 Answer Given:- 3, Option ID : -603  
   
   
 Question ID:- 152  
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 Options:-  

.1, Option ID :- 605,  

. 2, Option ID :- 606,  

. 3, Option ID :- 607,  

. 4, Option ID :- 608,  

 Answer Given:- 1, Option ID : -605  
   
   
 Question ID:- 153  

   

 Options:-  

.1, Option ID :- 609,  

. 2, Option ID :- 610,  

. 3, Option ID :- 611,  

. 4, Option ID :- 612,  

 Answer Given:- 3, Option ID : -611  
   
   
 Question ID:- 154  

   

 Options:-  

.1, Option ID :- 613,  

. 2, Option ID :- 614,  

. 3, Option ID :- 615,  

. 4, Option ID :- 616,  

 Answer Given:- 2, Option ID : -614  
   
   
 Question ID:- 155  
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 Options:-  

.1, Option ID :- 617,  

. 2, Option ID :- 618,  

. 3, Option ID :- 619,  

. 4, Option ID :- 620,  

 Answer Given:- 4, Option ID : -620  
   
   
 Question ID:- 156  

   

 Options:-  

.1, Option ID :- 621,  

. 2, Option ID :- 622,  

. 3, Option ID :- 623,  

. 4, Option ID :- 624,  

 Answer Given:- 2, Option ID : -622  
   
   
 Question ID:- 157  

   

 Options:-  

.1, Option ID :- 625,  

. 2, Option ID :- 626,  

. 3, Option ID :- 627,  

. 4, Option ID :- 628,  

 Answer Given:- 2, Option ID : -626  
   
   
 Question ID:- 158  
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 Options:-  

.1, Option ID :- 629,  

. 2, Option ID :- 630,  

. 3, Option ID :- 631,  

. 4, Option ID :- 632,  

 Answer Given:- 4, Option ID : -632  
   
   
 Question ID:- 159  

   

 Options:-  

.1, Option ID :- 633,  

. 2, Option ID :- 634,  

. 3, Option ID :- 635,  

. 4, Option ID :- 636,  

 Answer Given:- 3, Option ID : -635  
   
   
 Question ID:- 160  

   

 Options:-  

.1, Option ID :- 637,  

. 2, Option ID :- 638,  

. 3, Option ID :- 639,  

. 4, Option ID :- 640,  

 Answer Given:- 2, Option ID : -638  
   
   
 Question ID:- 161  
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 Options:-  

.1, Option ID :- 641,  

. 2, Option ID :- 642,  

. 3, Option ID :- 643,  

. 4, Option ID :- 644,  

 Answer Given:- 4, Option ID : -644  
   
   
 Question ID:- 162  

   

 Options:-  

.1, Option ID :- 645,  

. 2, Option ID :- 646,  

. 3, Option ID :- 647,  

. 4, Option ID :- 648,  

 Answer Given:- 3, Option ID : -647  
   
   
 Question ID:- 163  

II
«

sliii
I ? |

if
!

£*
$

1211
E

£
1

u -
'

(P^
S^ Jf

,1
I

is111
f Ip

il
put
P'

.t=
4
r

|
lilt

1fills
11 N

i*
^

f- £
If

[S-
|

£
E

If
f

I^ J i
>i £

%
is^

>1
«

i^ itil
lliSff
f

-g
6

Isi
S

1eflli
i
t

lltli
|
!

||
fif

.
.

!1 :
H

*
*

I
J £I

-f
IF |

ff

i ,! ll »
11 ll |

i
I

sftill
*

I|iIff
|

| |tlll
jgfIff

Pllif I
S

i
|

i |
Sf

ifII*
511 sf

|
l |fi |

fl 1
#

l
I

asI
jg- pf

ts
s
s
i

|$^

^
ir£

Ifrr
#

f
1

15
i

iI
9 V

s1^ 11
E

S
S

i

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


   

 Options:-  

.1, Option ID :- 649,  

. 2, Option ID :- 650,  

. 3, Option ID :- 651,  

. 4, Option ID :- 652,  

 Answer Given:- 3, Option ID : -651  
   
   
 Question ID:- 164  

   

 Options:-  

.1, Option ID :- 653,  

. 2, Option ID :- 654,  

. 3, Option ID :- 655,  

. 4, Option ID :- 656,  

 Answer Given:- 3, Option ID : -655  
   
   
 Question ID:- 165  
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 Options:-  

.1, Option ID :- 657,  

. 2, Option ID :- 658,  

. 3, Option ID :- 659,  

. 4, Option ID :- 660,  

 Answer Given:- 3, Option ID : -659  
   
   
 Question ID:- 166  

   

 Options:-  

.1, Option ID :- 661,  

. 2, Option ID :- 662,  

. 3, Option ID :- 663,  

. 4, Option ID :- 664,  

 Answer Given:- 3, Option ID : -663  
   
   
 Question ID:- 167  

   

 Options:-  
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.1, Option ID :- 665,  

. 2, Option ID :- 666,  

. 3, Option ID :- 667,  

. 4, Option ID :- 668,  

 Answer Given:- 3, Option ID : -667  
   
   
 Question ID:- 168  

   

 Options:-  

.1, Option ID :- 669,  

. 2, Option ID :- 670,  

. 3, Option ID :- 671,  

. 4, Option ID :- 672,  

 Answer Given:- 1, Option ID : -669  
   
   
 Question ID:- 169  

   

 Options:-  

.1, Option ID :- 673,  

. 2, Option ID :- 674,  

. 3, Option ID :- 675,  

. 4, Option ID :- 676,  

 Answer Given:- 1, Option ID : -673  
   
   
 Question ID:- 170  

   

 Options:-  

.1, Option ID :- 677,  

. 2, Option ID :- 678,  
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(1) fsfv^TT TT^£f

(2) WIW
(3) q^'y

(4)

'qft <jft^ 1? :

(1) 4-^Rd
(2) =WI¥I

(3) $l«<l’d=hK

(4) ’H^-MIdl

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


. 3, Option ID :- 679,  

. 4, Option ID :- 680,  

 Answer Given:- 3, Option ID : -679  
   
   
 Question ID:- 171  

   

 Options:-  

.1, Option ID :- 681,  

. 2, Option ID :- 682,  

. 3, Option ID :- 683,  

. 4, Option ID :- 684,  

 Answer Given:- 2, Option ID : -682  
   
   
 Question ID:- 172  

   

 Options:-  

.1, Option ID :- 685,  

. 2, Option ID :- 686,  

. 3, Option ID :- 687,  

. 4, Option ID :- 688,  

 Answer Given:- 1, Option ID : -685  
   
   
 Question ID:- 173  

   

 Options:-  

.1, Option ID :- 689,  

. 2, Option ID :- 690,  

. 3, Option ID :- 691,  

. 4, Option ID :- 692,  
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fHHfdRdd '51^ ĝ TT % drHH-cf^ra îT SHFRcT f
(1) Wf - #TT

(2) •sfa -

(3) =hlf =hd - =bWd
(4) W - MT

:

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


 Answer Given:- 2, Option ID : -690  
   
   
 Question ID:- 174  

   

 Options:-  

.1, Option ID :- 693,  

. 2, Option ID :- 694,  

. 3, Option ID :- 695,  

. 4, Option ID :- 696,  

 Answer Given:- 1, Option ID : -693  
   
   
 Question ID:- 175  

   

 Options:-  

.1, Option ID :- 697,  

. 2, Option ID :- 698,  

. 3, Option ID :- 699,  

. 4, Option ID :- 700,  

 Answer Given:- 4, Option ID : -700  
   
   
 Question ID:- 176  

   

 Options:-  

.1, Option ID :- 701,  

. 2, Option ID :- 702,  

. 3, Option ID :- 703,  

. 4, Option ID :- 704,  

 Answer Given:- 2, Option ID : -702  
   
   
 Question ID:- 177  
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 Options:-  

.1, Option ID :- 705,  

. 2, Option ID :- 706,  

. 3, Option ID :- 707,  

. 4, Option ID :- 708,  

 Answer Given:- 3, Option ID : -707  
   
   
 Question ID:- 178  

   

 Options:-  

.1, Option ID :- 709,  

. 2, Option ID :- 710,  

. 3, Option ID :- 711,  

. 4, Option ID :- 712,  

 Answer Given:- 4, Option ID : -712  
   
   
 Question ID:- 179  

   

 Options:-  

.1, Option ID :- 713,  

. 2, Option ID :- 714,  

. 3, Option ID :- 715,  

. 4, Option ID :- 716,  

 Answer Given:- 2, Option ID : -714  
   
   
 Question ID:- 180  
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 Options:-  

.1, Option ID :- 717,  

. 2, Option ID :- 718,  

. 3, Option ID :- 719,  

. 4, Option ID :- 720,  

 Answer Given:- 1, Option ID : -717  
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Exam Shift : EveningExam date : 13.02.2023

KVS RECURITMENT EXAM 2022
Provisional Answer Keys

Post : TGT HINDI

Qno keyQuestion Description

001 2General English

002 2General English

003 4General English

004 1General English

005 3General English

006 1General English

007 2General English

008 3General English

009 2General English

010 4General English

011 1General Hindi

012 1General Hindi

013 2General Hindi

014 2General Hindi

015 3General Hindi

016 1General Hindi

017 4General Hindi

018 4General Hindi

019 3General Hindi

020 1General Hindi

021 3General Awareness& Current Affairs

022 2General Awareness& Current Affairs

023 2General Awareness& Current Affairs

024 1General Awareness& Current Affairs

025 3General Awareness& Current Affairs

026 2General Awareness& Current Affairs

027 3General Awareness& Current Affairs

028 2General Awareness& Current Affairs

029 4General Awareness& Current Affairs

030 2General Awareness& Current Affairs

031 3Reasoning Ability

032 3Reasoning Ability

033 4Reasoning Ability

034 4Reasoning Ability

035 2Reasoning Ability

036 4Computer Literacy

037 1Computer Literacy

038 3Computer Literacy

039 2Computer Literacy

040 3Computer Literacy

041 3Understanding the Learner

042 4Understanding the Learner

043 4Understanding the Learner

044 3Understanding the Learner

045 3Understanding the Learner

046 4Understanding the Learner

047 2Understanding the Learner

048 4Understanding the Learner

049 2Understanding the Learner

050 3Understanding the Learner

051 3Understanding Teaching Learning

Qno keyQuestion Description

052 4Understanding Teaching Learning

053 3Understanding Teaching Learning

054 3Understanding Teaching Learning

055 1Understanding Teaching Learning

056 4Understanding Teaching Learning

057 1Understanding Teaching Learning

058 3Understanding Teaching Learning

059 2Understanding Teaching Learning

060 2Understanding Teaching Learning

061 4Understanding Teaching Learning

062 4Understanding Teaching Learning

063 2Understanding Teaching Learning

064 2Understanding Teaching Learning

065 3Understanding Teaching Learning

066 2Creating Conducive Learning Env. Etc.

067 2Creating Conducive Learning Env. Etc.

068 4Creating Conducive Learning Env. Etc.

069 1Creating Conducive Learning Env. Etc.

070 2Creating Conducive Learning Env. Etc.

071 3Creating Conducive Learning Env. Etc.

072 4Creating Conducive Learning Env. Etc.

073 3Creating Conducive Learning Env. Etc.

074 3Creating Conducive Learning Env. Etc.

075 4Creating Conducive Learning Env. Etc.

076 2Creating Conducive Learning Env. Etc.

077 3Creating Conducive Learning Env. Etc.

078 1Creating Conducive Learning Env. Etc.

079 3Creating Conducive Learning Env. Etc.

080 3Creating Conducive Learning Env. Etc.

081 3HINDI

082 1HINDI

083 4HINDI

084 3HINDI

085 1HINDI

086 4HINDI

087 3HINDI

088 2HINDI

089 1HINDI

090 2HINDI

091 3HINDI

092 1HINDI

093 2HINDI

094 1HINDI

095 1HINDI

096 4HINDI

097 3HINDI

098 2HINDI

099 1HINDI

100 3HINDI

101 3HINDI

102 2HINDI

Qno keyQuestion Description

103 1HINDI

104 1HINDI

105 3HINDI

106 2HINDI

107 3HINDI

108 4HINDI

109 3HINDI

110 3HINDI

111 4HINDI

112 3HINDI

113 2HINDI

114 2HINDI

115 3HINDI

116 2HINDI

117 2HINDI

118 2HINDI

119 3HINDI

120 1HINDI

121 1HINDI

122 1HINDI

123 2HINDI

124 1HINDI

125 2HINDI

126 2HINDI

127 1HINDI

128 3HINDI

129 1HINDI

130 2HINDI

131 4HINDI

132 4HINDI

133 1HINDI

134 4HINDI

135 2HINDI

136 2HINDI

137 4HINDI

138 4HINDI

139 4HINDI

140 3HINDI

141 3HINDI

142 3HINDI

143 4HINDI

144 2HINDI

145 2HINDI

146 1HINDI

147 2HINDI

148 4HINDI

149 2HINDI

150 3HINDI

151 3HINDI

152 4HINDI

153 3HINDI
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154 2HINDI

155 4HINDI

156 2HINDI

157 3HINDI

158 4HINDI

159 3HINDI

160 2HINDI

161 4HINDI

162 3HINDI

163 3HINDI

164 3HINDI

165 3HINDI

166 3HINDI

167 3HINDI

168 1HINDI

169 1HINDI

170 1HINDI

171 2HINDI

172 1HINDI

173 2HINDI

174 1HINDI

175 4HINDI

176 4HINDI

177 3HINDI

178 1HINDI

179 2HINDI

180 1HINDI
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